
MATHS

BOOKS - VGS BRILLIANT MATHS (TELUGU ENGLISH)

PAIR OF LINEAR EQUATIONS IN TWO VARIABLES

Example

1. Check whether the given pair of equations represent intersecting,

parallel or coincident lines. Find the solution if the equations are

consistent. 

Watch Video Solution

2x + y − 5 = 0, 3x − 2y − 4 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4o8C1pxDUtYR


2. Check whether the following pair of equations is consistent.

3x+4y=2 and 6x+8y=4 Varify by a graphical representation.

Watch Video Solution

3. Check whether the equations 2x-3y=5 and 4x-6y=15 are consistent.

Also verify by graphical representation.

Watch Video Solution

4. In a garden there are some bees and flowers. If one bee sits on

each flower, then one bee will be left. If two bees sit on each flower,

once flower will be left. Find the number of bees and number of

flowers.

Watch Video Solution

https://dl.doubtnut.com/l/_vj1JaIVCb3Rp
https://dl.doubtnut.com/l/_cHyr0oSJnD4B
https://dl.doubtnut.com/l/_MjMdM5sRxt80
https://dl.doubtnut.com/l/_wKwOCDhwHiPo


5. The perimeter of a rectangular plot is 32m. If the length is

increased by 2m and the breadth is decreased by 1m, the area of the

plot remains the same. Find the length and breadth of the plot.

Watch Video Solution

6. Solve the given pair of equations using substitution method. 2x-

y=5,3x+2y=11

Watch Video Solution

7. Solve the following pair of linear equations using elimination

method. 3x+2y=11,2x+3y=4

Watch Video Solution

https://dl.doubtnut.com/l/_wKwOCDhwHiPo
https://dl.doubtnut.com/l/_ZEYfOBPB8VCi
https://dl.doubtnut.com/l/_gi5eMADxZuoT


8. Rubina went to a bank to withdraw Rs. 2000. She asked the

cashier to give the cash in Rs. 50 and Rs. 100 notes only. She got 25

notes in all. Can you tell how many notes each of Rs. 50 and Rs. 100

she received?

Watch Video Solution

9. Rubina went to a bank to withdraw Rs. 2000. She asked the

cashier to give the cash in Rs. 50 and Rs. 100 notes only. She got 25

notes in all. Can you tell how many notes each of Rs. 50 and Rs. 100

she received?

Watch Video Solution

10. In a competitive exam, 3 marks are to be awarded for every

correct answer and for every wrong answer, 1 mark will be deducted.

https://dl.doubtnut.com/l/_9LpyevWhCJb3
https://dl.doubtnut.com/l/_2ZVkvJcCpp5n
https://dl.doubtnut.com/l/_t6YOn7jopKJY


Madhu scored 40 marks in this exam. Had 4 marks been awarded for

each correct answer and 2 marks deducted for each incorrect

answer, Madhu would have scored 50 marks. How many questions

were three in the test?

Watch Video Solution

11. Mary told her daughter, "Seven years ago, I was seven times as

old as you were then. Also, three years from now, I shall be three

times as old as you will be." Find the present age of Mary and her

daughter.

Watch Video Solution

12. A publisher is planning to produce a new textbook. The fixed

costs are Rs. 320000 per book. Besides that, he also spends another

Rs. 31.25 in producing the book. The wholesale price is Rs. 43.75 per

https://dl.doubtnut.com/l/_t6YOn7jopKJY
https://dl.doubtnut.com/l/_XTyomSrzql88
https://dl.doubtnut.com/l/_5jzRoBsgRP74


book. How many books must the publisher sell to break even,i.e., so

that the cost of production will equal revenues?

Watch Video Solution

13. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

where .

Watch Video Solution

+ = 13
2

x

3

y
− = − 2

5

x

4
y

x ≠ 0, y ≠ 0

14. Kavitha thought of constructing 2 more rooms in her house. She

enquired about the labour. She came to know that 6 men and 8

women could finish this work in 14 days. But she wish to complete

that work in only 10 days. When she enquired, she was told that 8

men and 12 women could finish the work in 10 days. Find out the

https://dl.doubtnut.com/l/_5jzRoBsgRP74
https://dl.doubtnut.com/l/_bMRbNgFichLR
https://dl.doubtnut.com/l/_7kFJKavc2c1X


Do These

how much time would be taken to finish the work if one man or one

woman worked alone.

Watch Video Solution

15. A man travels 370 km partly by train and partly by car. If he covers

250 km by train and the rest by car, it takes him 4 hours. But if he

travels 130 km by train and the rest by car, it takes 18 minutes more.

Find the speed of the train and that of the car.

Watch Video Solution

1. Solve the following systems of equations: 

x-2y=0, 3x+4y=20.

Watch Video Solution

https://dl.doubtnut.com/l/_7kFJKavc2c1X
https://dl.doubtnut.com/l/_ZGhZFo0g4qAd
https://dl.doubtnut.com/l/_Z8CbXf39x6c9


2. Solve the following systems of equations: 

x+y=2, 2x+2y=4.

Watch Video Solution

3. Solve the following systems of equations: 

2x-y=4, 4x-2y=6.

Watch Video Solution

4. Two rails of a railway track are represented by the equations.

X+2y-4=0 and 2x+4y-12=0. Represent this situation graphically..

Watch Video Solution

https://dl.doubtnut.com/l/_Z8CbXf39x6c9
https://dl.doubtnut.com/l/_ocU3tvmilBPY
https://dl.doubtnut.com/l/_5qjX1iViDFD3
https://dl.doubtnut.com/l/_zgDBKigKYMvZ


5. Check each of the given sustems of equations to see if has a

unique solution, infinitely many solutions or no solution. Solve them

graphically. 

2x+3y=1, 3x-y=7.

Watch Video Solution

6. Check each of the given sustems of equations to see if has a

unique solution, infinitely many solutions or no solution. Solve them

graphically. 

x+2y=6, 2x+4y=12.

Watch Video Solution

7. Check each of the given sustems of equations to see if has a

unique solution, infinitely many solutions or no solution. Solve them

https://dl.doubtnut.com/l/_klmxnSMhFKOa
https://dl.doubtnut.com/l/_nrwDcN70DQeo
https://dl.doubtnut.com/l/_8PN0qREqr1zg


graphically. 

3x+2y=6, 6x+4y=18.

Watch Video Solution

8. Solve each pair of equation by using the substitution method. 3x-

5y=-1 and x-y=-1.

Watch Video Solution

9. Solve each pair of equation by using the substitution method.

 and 2x-3y=12.

Watch Video Solution

x + 2y = − 1

10. Solve each pair of equation by using the substitution method.

2x+3y=9 and 3x+4y=5.

https://dl.doubtnut.com/l/_8PN0qREqr1zg
https://dl.doubtnut.com/l/_YsR8f0urfRY1
https://dl.doubtnut.com/l/_JQF8Wv0S9EVP
https://dl.doubtnut.com/l/_DHJNt19EY0pU


Watch Video Solution

11. Solve each pair of equation by using the substitution method.

 and .

Watch Video Solution

x + = 6
6

y
3x − = 5

8

y

12. Solve each pair of equation by using the substitution method.

0.2x+0.3y=1.3 and 0.4x+0.5y=2.3.

Watch Video Solution

13. Solve each pair of equation by using the substitution method.

 and .

Watch Video Solution

√2x + √3y = 0 √3x − √8y = 0

https://dl.doubtnut.com/l/_DHJNt19EY0pU
https://dl.doubtnut.com/l/_xzNjmISu9NuU
https://dl.doubtnut.com/l/_dzooex52dsns
https://dl.doubtnut.com/l/_ohJ3B8VESJOw
https://dl.doubtnut.com/l/_BpI1FziIMyz6


14. Solve each of the following pairs of equations by the elimination

method. 8x+5y=9 and 3x+2y=4.

Watch Video Solution

15. Solve each of the following pairs of equations by the elimination

method. 2x+3y=8 and 4x+6y=7.

Watch Video Solution

16. Solve each of the following pairs of equations by the elimination

method. 3x+4y=25 and 5x-6y=-9.

Watch Video Solution

https://dl.doubtnut.com/l/_BpI1FziIMyz6
https://dl.doubtnut.com/l/_Ag2NZcse1IXc
https://dl.doubtnut.com/l/_DOLGeWIJZHVJ


Try These

17. In a competitive exam, 3 marks are to be awarded for every

correct answer and for every wrong answer, 1 mark will be deducted.

Madhu scored 40 marks in this exam. Had 4 marks been awarded for

each correct answer and 2 marks deducted for each incorrect

answer, Madhu would have scored 50 marks. How many questions

were three in the test?

Watch Video Solution

18. Mary told her daughter, "Seven years ago, I was seven times as

old as you were then. Also, three years from now, I shall be three

times as old as you will be." Find the present age of Mary and her

daughter.

Watch Video Solution

https://dl.doubtnut.com/l/_pRujwFgQMe6y
https://dl.doubtnut.com/l/_S19ub41RCsjD


1. Which of the following equations is not a linear equation?

A. 5+4x=y+3

B. x+2y=y-x

C. 

D. x+y=0

Answer: C

Watch Video Solution

3 − x = y2 + 4

2. Which of the following is a linear equation in one variable?

A. 2x+1=y-3

B. 2t-1=2t+5

C. 2x − 1 = x2

https://dl.doubtnut.com/l/_EaGAXxFGW1Na
https://dl.doubtnut.com/l/_GDWqpPF8O8RV


D. 

Answer: B

Watch Video Solution

x2 − x + 1 = 0

3. Which of the following numbers is a solution for the equation

2(x+3)=18?

A. 5

B. 6

C. 13

D. 21

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GDWqpPF8O8RV
https://dl.doubtnut.com/l/_5OMtjUbb5jgx
https://dl.doubtnut.com/l/_zk4Hv0QdX8eB


4. The value of x which satisfies the equation 2x-(4-x)=5-x is

A. 4.5

B. 3

C. 2.25

D. 0.5

Answer: C

Watch Video Solution

5. The equation x-4y=5 has

A. no solution

B. unique solution

C. two solutions

D. infinitely many solutions

https://dl.doubtnut.com/l/_zk4Hv0QdX8eB
https://dl.doubtnut.com/l/_ybkFgRmYbuIy


Answer: D

Watch Video Solution

6. A man is 24 years older than his son. In two years, his age will be

twice the age of his son. The present age of his son is

A. 14 years

B. 18 years

C. 20 years

D. 22 years

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ybkFgRmYbuIy
https://dl.doubtnut.com/l/_xW7kDtGOQLEj


7. For what value of 'p' the following pair of equations has a unique

solution. 2x+py=-5 and 3x+3y=-6.

Watch Video Solution

8. Find the value of 'k' for which the pair of equations 2x-ky+3=0,

4x+6y-5=0 represent parallel lines.

Watch Video Solution

9. For what value of 'k', the pair of equation 3x+4y+2=0 and

9x+12y+k=0 represent coincident lines.

Watch Video Solution

https://dl.doubtnut.com/l/_w8TtKpb3eeOU
https://dl.doubtnut.com/l/_qvaEPHWnEaKv
https://dl.doubtnut.com/l/_Kwj14eXJAOQi


Think Discuss

10. For what positive values of 'p' the folllowing pair of linear

equations have infinitely many solutions? 

, 

Watch Video Solution

px + 3y − (p − 3) = 0 12x + py − p = 0

1. The cost of 1kg potatoes and 2 kg tomatoes was Rs. 30 on a

certain day. After two days, the cost of 2 kg potatoes and 4 kg

tomatoes was found to be Rs. 66.Identify the unknowns in each

situation. We observe that there are two unknowns in each case.

Watch Video Solution

https://dl.doubtnut.com/l/_DjZASR4EqICi
https://dl.doubtnut.com/l/_DAkCTZTgwrEA


Try This

2. The coach of a cricket team of M.K.Nagar High School buys 3 bats

and 6 balls for Rs. 3900. Later he buys one more bat and 2 balls for

Rs. 1300. Identify the unknowns in each situation. We observe that

there are two unknowns in each case.

Watch Video Solution

3. Is a dependent pair od linear equations always consistent? Why or

why not?

Watch Video Solution

1. Solve the given pair of linear equations.

(a − b)x + (a + b)y = a2 − 2ab − b2  and (a + b)(x + y) = a2 + b2

https://dl.doubtnut.com/l/_UPcnh45z2B3P
https://dl.doubtnut.com/l/_O6lmzbHV3usD
https://dl.doubtnut.com/l/_oWAVVbR1GDTo


Exercise 4 1

.

Watch Video Solution

1. By comparing the ratios , find out whether the

represented by the following pairs of linear equations intersect at a

point, are parallel or are coincident. 5x-4y+8=0, 7x+6y-9=0.

Watch Video Solution

, ,
a1

a2

b1

b2

c1

c2

2. By comparing the ratios , find out whether the

represented by the following pairs of linear equations intersect at a

point, are parallel or are coincident. 9x+3y+12=0 , 18x+6y+24=0.

Watch Video Solution

, ,
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_oWAVVbR1GDTo
https://dl.doubtnut.com/l/_wFLwTTk8OCzb
https://dl.doubtnut.com/l/_Ibk1DHhM3wrK


3. By comparing the ratios , find out whether the

represented by the following pairs of linear equations intersect at a

point, are parallel or are coincident. 6x-3y+10=0 , 2x-y+9=0.

Watch Video Solution

, ,
a1

a2

b1

b2

c1

c2

4. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

3x+2y=8, 2x-3y=1.

Watch Video Solution

5. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

2x-3y=8 , 4x-6y=9.

Watch Video Solution

https://dl.doubtnut.com/l/_fYmLVKoxQocH
https://dl.doubtnut.com/l/_7uvHZMU8Nrrz
https://dl.doubtnut.com/l/_InwZIUPMC5EM


6. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

 , 9x-10y=12.

Watch Video Solution

x + y = 7
3
2

5

3

7. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

5x-3y = 11, -10x+6y = -22

Watch Video Solution

8. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

Watch Video Solution

x + 2y = 8, 2x + 3y = 12
4

3

https://dl.doubtnut.com/l/_InwZIUPMC5EM
https://dl.doubtnut.com/l/_tFHB0w9Nm7TF
https://dl.doubtnut.com/l/_u2HLSueyb8L6
https://dl.doubtnut.com/l/_6Yp9CgwYdcM1


Watch Video Solution

9. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

x+y=5 , 2x+2y=10.

Watch Video Solution

10. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

x-y=8 , 3x-3y=16.

Watch Video Solution

11. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

2x+y-6=0 and 4x-2y-4=0.

https://dl.doubtnut.com/l/_6Yp9CgwYdcM1
https://dl.doubtnut.com/l/_QsnFnjPoPOjS
https://dl.doubtnut.com/l/_z9R4vaXM7UL1
https://dl.doubtnut.com/l/_QRA4QptJmkuN


Watch Video Solution

12. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

2x-2y-2=0 and 4x-4y-5=0.

Watch Video Solution

13. Neha went to a 'sale' to purchase some pants and skirts. When

her friend asked her how many of each she had bought, she

answered "The number of skirts are two less than twice the number

of pants purchased. Also the number of skirts is four less than four

times the number or pants purchased." Help her friends to find how

many pants and skirts Neha bought.

Watch Video Solution

https://dl.doubtnut.com/l/_QRA4QptJmkuN
https://dl.doubtnut.com/l/_jpEjvMdfRhPA
https://dl.doubtnut.com/l/_qVfezbWKACjD
https://dl.doubtnut.com/l/_wgOyhFqEeY29


14. 10 students of Class-X took part in a mathematics quiz. If the

number of girls in 4 more than the number of boys then, find the

number of boys and the number of girls who took part in the quiz.\

Watch Video Solution

15. 5 pencils and 7 pens together cost Rs. 50 where as 7 pencils and

5 pens together cost Rs. 46. Find the cost of one pencil and that of

one pen.

Watch Video Solution

16. Half the perimeter of a rectangular garden, whose length is 4m

more than its width, is 36m. Find the dimensions of the garden.

Watch Video Solution

https://dl.doubtnut.com/l/_wgOyhFqEeY29
https://dl.doubtnut.com/l/_Wyau3kLzlbjw
https://dl.doubtnut.com/l/_qbswhJTICDuF
https://dl.doubtnut.com/l/_ZeWXBAeLwNwg


17. We have a linear quations 2x + 3y - 8 = 0. Write another linear

equation in two variables x and y such that the geometrical

representation of the pair so formed is intersecting lines. 

Now, write two more linear equations so that one forms a pair of

parllel lines and the second forms coincident line with the given

equation.

Watch Video Solution

18. The area of a rectangle gets reduced by 80 sq. units if its length

is reduced by 5 units and breadth is increased by 2 units. If we

increase the length by 10 units and decrease the breadth by 5 units,

the area will increase by 50 sq. units. Find the length and breadth of

the rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_ZeWXBAeLwNwg
https://dl.doubtnut.com/l/_Dm3qiL8lnGbS


Exercise 4 2

19. In X class, if three students sit on each bench, one student will be

left. If four students sit on each bench, one bench will be left. Find

the number of students and the number of benches in that class.

Watch Video Solution

1. The ratio of incomes of two persons is and the ratio of their

expenditures is . If each of them manages to save Rs 2000 per

month, find their monthly incomes.

Watch Video Solution

9: 7

4: 3

2. The sum of a two-digit
 number and the number formed by

reversing the order of digits is 66. If the
 two digits differ by 2, find

https://dl.doubtnut.com/l/_R9iMbAPIZGm6
https://dl.doubtnut.com/l/_AyoNyRYBj1ec
https://dl.doubtnut.com/l/_mIo7Cvi2ANPN


the number. How many such numbers are there?

Watch Video Solution

3. The larger of two supplementary angles excceds the smaller by

. Find the angles.

Watch Video Solution

18∘

4. The text charges in Hyderabad are fixed, along with the charge for

the distance covered. For a distance of 10 km, the charge paid is Rs.

220. For a journey of 15 km, the charge paid is Rs. 310. 

What are the fixed charges and charge per km?

Watch Video Solution

https://dl.doubtnut.com/l/_mIo7Cvi2ANPN
https://dl.doubtnut.com/l/_69CHEySr1tPz
https://dl.doubtnut.com/l/_bTrtQ3CrhyKg


5. The texi charges in Hyderabad are fixed, along with the charge for

the distance covered. For a distance of 10 km, the charge paid is Rs.

220. For a journey of 15 km, the charge paid is Rs. 310. 

How much does a person have to pay for travelling a distance of 25

km?

Watch Video Solution

6. A fraction becomes equal to  if 1 is added to both numerator

and denominator. If, however, 5 is subtracted from both numerator

and denominator, the fraction becomes equal to . What is the

fractions?

Watch Video Solution

4
5

1

2

https://dl.doubtnut.com/l/_p6d0l52B3YFt
https://dl.doubtnut.com/l/_FiU2rpyeMu5p


7. Places A and B are 100 km apart on a highway. One car starts from

A and another from B at the same time at different speeds. If the

caras travel in the same direction, they meet in 5 hours. If they travel

towards each other, they meet in 1 hour. What are the speeds of the

two cars?

Watch Video Solution

8. Two angles are complementary. The larger angle is  less than

twice the measure of the smaller angle. Find the measure of each

angle.

Watch Video Solution

3∘

9. An algebra textbook has a total of 1382 pages. It is broken up into

two parts. The second part of the book has 64 pages more than the

https://dl.doubtnut.com/l/_pS8MDcJ6z2NI
https://dl.doubtnut.com/l/_BDHNrNGYUTYq
https://dl.doubtnut.com/l/_ZgyqbpCDe1bs


Exercise 4 3

first part. How many pages are in each part of the book?

Watch Video Solution

10. A chemist has two solutions of hydrochloric acid in stock. One is

50% solution and the other is 80% solution. How much of each

should be used to obtain 100 ml of a 68% solution?

Watch Video Solution

11. Suppose you have Rs. 12000 to invest. You have to invest some

amount at 10% and the rest at 15%. How much should be invested

at each rate to yield 12% on the total amount invested?

Watch Video Solution

https://dl.doubtnut.com/l/_ZgyqbpCDe1bs
https://dl.doubtnut.com/l/_aMmQlzjtEmsJ
https://dl.doubtnut.com/l/_s7uew1tucug2


1. Solve each of the following pairs of equations by reducing them to

a pair of linear equations.

.

Watch Video Solution

+ = 2  and − = 1
5

x − 1

1

y − 2

6

x − 1

3

y − 2

2. Solve each of the following pairs of equations by reducing them

to a pair of linear equations. 

Watch Video Solution

= 2, = 6
x + y

xy

x − y

xy

3. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

Watch Video Solution

+ = 2
2

√x

3

√y

− = − 1
4

√x

9

√y

https://dl.doubtnut.com/l/_KFiIYqu2kJRd
https://dl.doubtnut.com/l/_Vs8aTbcs3bOP
https://dl.doubtnut.com/l/_6hdzNDeYlEC1
https://dl.doubtnut.com/l/_uOLDeCkmrjOL


4. Solve each of the following pairs of equations by reducing them

to a pair of linear equations. 6x+3y=6xy and 2x+4y=5xy.

Watch Video Solution

5. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

 where .

Watch Video Solution

− = − 1
5

x + y

2

x − y

+ = 10
15

x + y

7
x − y

x ≠ 0, y ≠ 0

6. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

where .

Watch Video Solution

+ = 13
2

x

3

y
− = − 2

5

x

4
y

x ≠ 0, y ≠ 0

https://dl.doubtnut.com/l/_uOLDeCkmrjOL
https://dl.doubtnut.com/l/_CHzbNUFSkxbT
https://dl.doubtnut.com/l/_jVN4jEDGERgI
https://dl.doubtnut.com/l/_mHqcFrV70IuI


7. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

Watch Video Solution

+ = 4
10

x + y

2

x − y

− = − 2
15

x + y

5

x − y

8. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

.

Watch Video Solution

+ =
1

3x + y

1

3x − y

3

4

− =
1

2(3x + y)

1

2(3x − y)

−1

8

9. Formulate the following problem as a pair of equations and then

find their solutions. 

A boat goes 30 km upstream and 44 km downstream in 10 hours. In

13 hours it can go 40 km upstream and 55 km downstream.

https://dl.doubtnut.com/l/_mHqcFrV70IuI
https://dl.doubtnut.com/l/_XASEK0cp3uay
https://dl.doubtnut.com/l/_oWN7GLhJk2wi


Determine the speed of the stream and that of the boat in still

water.

Watch Video Solution

10. Formulate the following problem as a pair of equations and then

find their solutions. 

Rahim travels 600 km to his home partly by train and partly by car.

He takes 8 hours If he travels 120 km by train and rest by car. He

takes 20 minutes more if he travels 200 km by train and rest by car.

Find the speed of the train and the car.

Watch Video Solution

11. Formulate the following problem as a pair of equations and then

find their solutions. 

2 women and 5 men can together finish an embroidery work in 4

https://dl.doubtnut.com/l/_oWN7GLhJk2wi
https://dl.doubtnut.com/l/_OiCh0nOKyaO2
https://dl.doubtnut.com/l/_f5thnIRUCkL3


Optional Exercise

days while 3 women and 6 men can finish it in 3 days. Find the time

taken by 1 women alone and 1 man alone to finish the work.

Watch Video Solution

1. Solve the following equations: 

Watch Video Solution

+ = 2  and − = 4
2x

a

y

b

x

a

y

b

2. Solve the following equations:

Watch Video Solution

+ = 8  and + = 9
x + 1

2

y − 1

3

x − 1

3

y + 1

2

3. Solve the following equations: .+ = 5, − = 6
x

7

y

3
x

2

y

9

https://dl.doubtnut.com/l/_f5thnIRUCkL3
https://dl.doubtnut.com/l/_SPSBKWocgvfL
https://dl.doubtnut.com/l/_aqjCDtft7vWq
https://dl.doubtnut.com/l/_He7hEmlpDJ1W


Watch Video Solution

4. Solve the following system of linear equations (with rational

denominator) by using the method of elimination : 

 and sqrt(5)x + sqrt(3)y = sqrt(2)`.

Watch Video Solution

√3x − √2y = √3

5. Solve the following equations: , ax-by=2ab.

Watch Video Solution

− = a + b
ax

b

by

a

6. Solve the following equations:

Watch Video Solution

2x + 3y = 17  and 2x+ 2 − 3y+ 1 = 5

https://dl.doubtnut.com/l/_He7hEmlpDJ1W
https://dl.doubtnut.com/l/_9H4epnnrGz67
https://dl.doubtnut.com/l/_vD09uSc3k7zF
https://dl.doubtnut.com/l/_p1xSDVemfl9O
https://dl.doubtnut.com/l/_6RRNXks2iPwP


Observation Material

7. Animals in an experiment are to be kept on a strict diet. Each

animal is to among other things 20g of protein and 6g of fat. The

laboratory technicians purchased two food mixes. A and B. Mix A has

10% protein and 6% fat. Mix B has 20% protein and 2% fat. How

many grams of each mix should be used?

Watch Video Solution

1. What is ment by consistenft equations? Give example.

Watch Video Solution

2. The value of 
for which the system of
equations 

and 
has no solution, is
(a) 10 (b) 6 (c) 3 (d) 1

k x + 2y − 3 = 0

5x + ky + 7 = 0

https://dl.doubtnut.com/l/_6RRNXks2iPwP
https://dl.doubtnut.com/l/_ZBn4suSwCAJf
https://dl.doubtnut.com/l/_8XCH6ZQLEnr5


Watch Video Solution

3. Find the value of k for which the pair of equations

2x+ky+3=0,4x+6y-5=0 represent parallel lines.

Watch Video Solution

4. For what value of k, the following system of equations has a

unique solution? .

Watch Video Solution

x − ky = 2, 3x + 2y = − 5

5. For what value of m the following system of equations will have a

unique solution ? 

Watch Video Solution

3x + my = 10  and 9x + 12y = 30

https://dl.doubtnut.com/l/_8XCH6ZQLEnr5
https://dl.doubtnut.com/l/_usOdWpkpGZAb
https://dl.doubtnut.com/l/_B8N962fo6PHD
https://dl.doubtnut.com/l/_oLEGMvLenCmz
https://dl.doubtnut.com/l/_ux1gWKaWNsI2


6. Show that the pair of linear equations 7x+y=10 and x+7y=10 are

consistent.

Watch Video Solution

7. Write the condition for the pair of linear equations in two

variables to be parallel lines.

Watch Video Solution

8. If x=a and y= b is solution for the pair of equations x-y=2 and

x+y=4, then find the values of a and b.

Watch Video Solution

https://dl.doubtnut.com/l/_ux1gWKaWNsI2
https://dl.doubtnut.com/l/_pyVpoWWuqNj0
https://dl.doubtnut.com/l/_zg55hC60Jzqs


9. The larger of two supplementary angles exceeds the smaller by

, then find the angles.

Watch Video Solution

58∘

10. Solve the following equations by substitution method. 

(i) 2x-7y=3 

(ii) 4x+y=21.

Watch Video Solution

11. 10 students of Class-X took part in a mathematics quiz. If the

number of girls in 4 more than the number of boys then, find the

number of boys and the number of girls who took part in the quiz.\

Watch Video Solution

https://dl.doubtnut.com/l/_F1KPgIdwsPH3
https://dl.doubtnut.com/l/_tObcyR9AZMc2
https://dl.doubtnut.com/l/_10NC0nTJY4lI
https://dl.doubtnut.com/l/_wVeOkB8qVERB


12. Sove the following pair of linear equations by substitution

method. 2x-3y=19 and 3x-2y=21.

Watch Video Solution

13. Given the linear equations 3x+4y=11, write linear equations in two

variables such that the their geometrical representations from

parallel lines and intersecting lines.

Watch Video Solution

14. Solve the given pair of linear equations by elimination method.

2x+y-5=0 and 3x-2y-4=0.

Watch Video Solution

https://dl.doubtnut.com/l/_wVeOkB8qVERB
https://dl.doubtnut.com/l/_7dX8mQtpPs9d
https://dl.doubtnut.com/l/_n7NjkhG46mzo


15. Solve the following equations graphically.

.

Watch Video Solution

x + y = 1, 2x − y = −
1

3

1

2

1

3

2

3

16. Solve the given pair of linear equations by elimination method.

2x+y-5=0 and 3x-2y-4=0.

Watch Video Solution

17. Draw the graphs of the following equations 3x-y-2=0 and 2x+y-8=0

on the graph paper.

Watch Video Solution

https://dl.doubtnut.com/l/_9NCJbTqTT0Aa
https://dl.doubtnut.com/l/_lbZx5cdt6NCh
https://dl.doubtnut.com/l/_lAma7yaPAcPH


18. S.T the equation 

represents a pair of straight lines. Also find the angle between them

and the coordinates of the point of intersection of the lines.

Watch Video Solution

2x2 − 13xy − 7y2 + x + 23y − 6 = 0

19. Find the area of the triangle formed by the lines

Watch Video Solution

y = x, y = 2x, y = 3x + 4

20. Draw the graph for the following pair of linear equation in two

variables and find their solution from the graph. 3x-2y=2 and 2x+y=6.

Watch Video Solution

https://dl.doubtnut.com/l/_MlLJTuHLgGQN
https://dl.doubtnut.com/l/_xtJeFzEggy5p
https://dl.doubtnut.com/l/_SscjIbGdDXrS


21. Draw the graph for the equations 2x-y-4=0 and x+y+1=0 on the

graph paper and check whether they are consistent or not.

Watch Video Solution

22. Draw the graph of 2x+y=6 and 2x-y+2=0 and find the solution

from the graph.

Watch Video Solution

23. Show that the following pair of equations are consistent and

solve them graphically. X+3y=6 and 2x-3y=12.

Watch Video Solution

24. Find the solution of x+2y=10 and 2x+4y=8 graphically.

https://dl.doubtnut.com/l/_Eo8vMaLJY3M5
https://dl.doubtnut.com/l/_JThijRwVEnbX
https://dl.doubtnut.com/l/_tMBZgcPD5dcD
https://dl.doubtnut.com/l/_EUzMqPfWLjxg


Creative Questions

Watch Video Solution

25. Solve the following pair of linear equations graphically. 2x+y=4

and 2x-3y=12.

Watch Video Solution

26. 6 pencils and 4 notebooks together cost Rs. 90/- where as 8

pencils and 3 notebooks together cost Rs. 85/-. Find the cost of one

pencil and that of one notebook.

Watch Video Solution

https://dl.doubtnut.com/l/_EUzMqPfWLjxg
https://dl.doubtnut.com/l/_9IltHWJCBdKY
https://dl.doubtnut.com/l/_k7wpC0NsJPKR


1. Cost of Mathematics textbook is Rs. 10 less than twice of cost of

English textbook. Write this in linear equaton.

Watch Video Solution

2. Solve the pair 2x+3y=12 and 3x+2y=13 in the elimination method.

Watch Video Solution

3. Solve the linear equations 2x+3y=12 and 3x+2y=13 by graph

method.

Watch Video Solution

4. Say whether the solution for 2x+3y=12 and 3x+2y=13 is exist or not

basing on the coefficients.

https://dl.doubtnut.com/l/_8B0pBExWF0uo
https://dl.doubtnut.com/l/_Pk7jIILjN7wL
https://dl.doubtnut.com/l/_8kTqEPQRU6lF
https://dl.doubtnut.com/l/_FxMsE37YJBKa


Given In The Public Examination

Watch Video Solution

5. Check whether the number of solutions of 2x+3y=12 and 3x+2y=13

are infinity or not. Give reasons.

Watch Video Solution

6. Solve 2x+3y=12 and 3x+2y=13 in the method of substitution.

Watch Video Solution

7. Why there exist infinite solutions to the straight line 2x+3y=12 ?

Watch Video Solution

https://dl.doubtnut.com/l/_FxMsE37YJBKa
https://dl.doubtnut.com/l/_LjH2ZWHrcnKG
https://dl.doubtnut.com/l/_S7np9oxuSqTO
https://dl.doubtnut.com/l/_Mbju1NBlIiYj


1. Which of the following equations is not a linear equation?

A. 5+4x=y+3

B. x+2y=y-x

C. 

D. x+y=0

Answer: C

Watch Video Solution

3 − x = y2 + 4

2. Which of the following equations is not a linear equation?

A. 5+4x=y+3

B. x+2y=y-x

C. 3 − x = y2 + 4

https://dl.doubtnut.com/l/_yR4Oe1NjCglB
https://dl.doubtnut.com/l/_W2GVpqrmXLbC


D. x+y=0

Answer: C

Watch Video Solution

3. The pair of equations 4x+6y=7 and 2x+3y=8 has……..

A. unique solution

B. no solution

C. many solutions

D. Infinite number of solutions

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_W2GVpqrmXLbC
https://dl.doubtnut.com/l/_HsR6QyrKgxQM


4. The point of intersecting of x+y=6 and x-y=4 is………

A. (5,1)

B. (1,5)

C. (2,4)

D. 4,6)

Answer: A

Watch Video Solution

5. The graph y=ax+b is a straight line which intersects X-axis at

A. 

B. (0,b)

C. 

(0, − )
b

a

( − , 0)
b

a

https://dl.doubtnut.com/l/_reApv4ptlzyg
https://dl.doubtnut.com/l/_Inywwclr2bsA


D. (b,0)

Answer: C

Watch Video Solution

6. If the pair of equations 2x+3y+k=0, 6x+9y+3=0 having infinite

solutions, the value of 'k' is……..

A. 2

B. 3

C. 0

D. 1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Inywwclr2bsA
https://dl.doubtnut.com/l/_4IyK6GurQBqQ
https://dl.doubtnut.com/l/_nqzXSgEwi2Tf


7. The pair of equations

 are consistent,

then……..

A. 

B. 

C. 

D. A and C

Answer: D

Watch Video Solution

a1x + b1y + c1 = 0  and a2x + b2y + c2 = 0

≠
a1

a2

b1

b2

= ≠
a1

a2

b1

b2

c1

c2

= =
a1

a2

b1

b2

c1

c2

8. Which of the following equations has the solution (1,-1)?

A. 3x-2y=6

B. 3x+2y=6

https://dl.doubtnut.com/l/_nqzXSgEwi2Tf
https://dl.doubtnut.com/l/_QPQLYA9gMumW


C. 3x-2y=5

D. 3x+2y=5

Answer: C

Watch Video Solution

9. The line 2x-3y=8 intersects X-axis at………..

A. (2,-3)

B. (0,-3)

C. (2,0)

D. (4,0)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QPQLYA9gMumW
https://dl.doubtnut.com/l/_MntRglWzqki9
https://dl.doubtnut.com/l/_dOLmnqrmnebC


10. If 6x+2y-9=0 and kx+y-7=0 has no solution, then k=……….

A. 3

B. 2

C. -3

D. -2

Answer: A

Watch Video Solution

11. A pair of linear equations in two vairables are 2x-y=4 and 4x-2y=6.

The pair of equations are……

A. Consistent

B. Dependent

C. Inconsistent

https://dl.doubtnut.com/l/_dOLmnqrmnebC
https://dl.doubtnut.com/l/_bxthVxs45wVB


D. Cannot say

Answer: C

Watch Video Solution

12. Solution for the equations

 is…….

A. x=3,y=5

B. x=7,y=11

C. x=1,y=1

D. x=0,y=0

Answer: D

Watch Video Solution

√3x + √5y = 0  and √7x + √11y = 0

https://dl.doubtnut.com/l/_bxthVxs45wVB
https://dl.doubtnut.com/l/_tbwo1LFgkMC3
https://dl.doubtnut.com/l/_m2UzpkifctHD


13. The value of 'x' in the equation 3x-(x-4)=3x+1 is………

A. -3

B. 0

C. 3

D. 10

Answer: C

Watch Video Solution

14. Which of the following is inconsistent equation to 2x+3y-5=0?

A. 4x-6y-11

B. 2x+y=5

C. x+3y=5

D. 4x+6y-11=0

https://dl.doubtnut.com/l/_m2UzpkifctHD
https://dl.doubtnut.com/l/_04f1oAXE36tj


Cce Model Examination

Answer: D

Watch Video Solution

15. The value of k forf which the system of equations kx-y=2 and 6x-

2y=3 has no solution, is…..

A. 3

B. 

C. 

D. 0

Answer: A

Watch Video Solution

≠ 3

≠ 0

https://dl.doubtnut.com/l/_04f1oAXE36tj
https://dl.doubtnut.com/l/_yKDio7lwVF7O


1. Which of the following pairs of equations represent inconsitent

system?

A. 2x+3y=8 and 5x-4y=3

B. 6x+3y=9 and x-8y=0

C. 2x+5y=11 and 4x+10y=21

D. 3x-4y=6 and 6x-8y=12

Answer: C

Watch Video Solution

2. For which value of k will the following pair of linear equations

have no solution 3x+y=1, (2k-1)x+(k-1)y=2k-1?

A. 1

B. 2

https://dl.doubtnut.com/l/_HYTFTsJlCKSV
https://dl.doubtnut.com/l/_0mrlwa4nSV1U


C. -2

D. -1

Answer: B

Watch Video Solution

3. If the lines given by 3x+2ky=2 and 2x+5y+1=0 are parallel, then the

value of k is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15

4

3

4

1

4

−
3

7

https://dl.doubtnut.com/l/_0mrlwa4nSV1U
https://dl.doubtnut.com/l/_zwPO2mHZT5Ug


4. The pair of linear equations 3x+4y+5=0 and 12x+16y+15=0 have……..

A. unique

B. many

C. two

D. No

Answer: D

Watch Video Solution

5. The pair of linear equations px+2y=5 and 3x+y=1 has unique

solution if

A. 

B. p=6

p ≠ 6

https://dl.doubtnut.com/l/_zwPO2mHZT5Ug
https://dl.doubtnut.com/l/_KWPAnV7PNRoh
https://dl.doubtnut.com/l/_YupVbvJyxIpo


C. p-5

D. 

Answer: A

Watch Video Solution

p ≠ 5

6. The pair of equations y=0 and y=-3 has

A. no solution

B. unique solution

C. many solutions

D. two solutions

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YupVbvJyxIpo
https://dl.doubtnut.com/l/_wb5GejIXbFkX
https://dl.doubtnut.com/l/_sjV7AQ76ozCL


7. The lines represented by 8x+2py=2 and 2x+5y+1=0 are prarllel if p=

A. 

B. 

C. 10

D. 

Answer: C

Watch Video Solution

−5

4

2

7

3

8

8. The pair of equations 3x+2y=5, 2x-3y=7

A. Consistent

B. inconsistent

C. has infinite solutions

https://dl.doubtnut.com/l/_sjV7AQ76ozCL
https://dl.doubtnut.com/l/_ffLqV32M9luo


D. has unique solution

Answer: A

Watch Video Solution

9. Solve each pair of equation by using the substitution method.

 and .

A. x=1,y=0

B. x=0,y=1

C. x=1,y=1

D. x=0,y=0

Answer: D

Watch Video Solution

√2x + √3y = 0 √3x − √8y = 0

https://dl.doubtnut.com/l/_ffLqV32M9luo
https://dl.doubtnut.com/l/_mDCl5x5IX8Tv
https://dl.doubtnut.com/l/_mgTqwVJfpKfh


10. The pair of equations

 has unique solution,

then……..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a1x + b1y + c1 = 0  and a2x + b2y + c2 = 0

≠
a1

a2

b1

b2

= ≠
a1

a2

b1

b2

c1

c2

= =
a1

a2

b1

b2

c1

c2

≠
b1

b2

c1

c2

11. The age of a daughter is one third the age of her father. If the

present age of father is x years, then the age of the daughter after

18 years is

https://dl.doubtnut.com/l/_mgTqwVJfpKfh
https://dl.doubtnut.com/l/_0FlYN7e3kSBB


A. 

B. 

C. x+18

D. 

Answer: D

Watch Video Solution

x + 18

3

− 18
x

3

+ 18
x

3

12. If x=1, then the value of y satisfying the equation 

A. 3

B. 

C. 

D. 1

Answer: A

+ = 6
5

x

3

y

1

3

−
1

3

https://dl.doubtnut.com/l/_0FlYN7e3kSBB
https://dl.doubtnut.com/l/_MSgNgO2N5ELl


Watch Video Solution

13. The value of y when  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= 2  and = 6
x + y

xy

x − y

xy

1

4

−
1

2

−
7
4

5

4

14. If ax+by=c and px+qy=r has unique solution, then

A. 

B. 

=
a

b

p

q

ab = pq

https://dl.doubtnut.com/l/_MSgNgO2N5ELl
https://dl.doubtnut.com/l/_QkvK9VPUdq6I
https://dl.doubtnut.com/l/_Ed6u4xpPvEJj


C. 

D. 

Answer: D

Watch Video Solution

=
a

q

b

p

aq ≠ bp

15. If 5x+py+8=0 and 10x+15y+12=0 has no solution, then p=

A. 

B. 

C. 7

D. 4

Answer: A

Watch Video Solution

7
1

2

6
1

2

https://dl.doubtnut.com/l/_Ed6u4xpPvEJj
https://dl.doubtnut.com/l/_ZABawxQZqQpG
https://dl.doubtnut.com/l/_L9rAMEqyliOy


16. y =5x is a line

A. parallel to X-axis

B. parallel to Y-axis

C. parallel to x=5y

D. passes through the origion

Answer: D

Watch Video Solution

17. x=7 is a line

A. parallel to X-axis

B. parallel to Y-axis

C. passes through the origion

https://dl.doubtnut.com/l/_L9rAMEqyliOy
https://dl.doubtnut.com/l/_qoAeWUjJ2RsV


D. passing through (0,7)

Answer: B

Watch Video Solution

18. The point (-3,-8) is in the …………quadrant

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Q1

Q2

Q3

Q4

https://dl.doubtnut.com/l/_qoAeWUjJ2RsV
https://dl.doubtnut.com/l/_TpwH14Cf6IRa


19. The point (7,-5) is in the…………quadrant.

A. I

B. II

C. III

D. IV

Answer: D

Watch Video Solution

20. x-y=0,2x-y=2, then y=

A. 1

B. 2

C. 0

https://dl.doubtnut.com/l/_vr8cyywEcU2x
https://dl.doubtnut.com/l/_KKs7KGcvhnuh


D. -2

Answer: B

Watch Video Solution

21. The larger of two supplementary angles exceeds the smaller by

. Find them.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

38∘

71∘ , 108∘

72∘ , 108∘

109∘ , 71∘

142∘ , 38∘

https://dl.doubtnut.com/l/_KKs7KGcvhnuh
https://dl.doubtnut.com/l/_BF3zXFORGUYH
https://dl.doubtnut.com/l/_aovj26uOGRlE


22. Find the value of x if  and 5x+8y=33.

A. 2

B. 3

C. 4

D. -3

Answer: B

Watch Video Solution

y = x
3

4

23. Which of the following is not a solution of the equation

2a+3b=5?

A. (1,1)

B. (-2,3)

C. (4,-1)

https://dl.doubtnut.com/l/_aovj26uOGRlE
https://dl.doubtnut.com/l/_mtg7At62CK33


D. (1,7)

Answer: D

Watch Video Solution

24. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

where .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 13
2

x

3

y
− = − 2

5

x

4
y

x ≠ 0, y ≠ 0

( , )
−1
2

−1

3

( , )
−1
2

1

3

( , )
1

3

1
2

( , )
1
2

1

3

https://dl.doubtnut.com/l/_mtg7At62CK33
https://dl.doubtnut.com/l/_Rs6pdsJX2HwG


25. , then x=

A. 132

B. 11

C. 12

D. 13

Answer: C

Watch Video Solution

+ = 11
120

x

12

x

26. The graph of a pair of linear equations in two variables is

represented by…………

A. Straight lines

B. curves

https://dl.doubtnut.com/l/_Rs6pdsJX2HwG
https://dl.doubtnut.com/l/_4Rh28C76nTNJ
https://dl.doubtnut.com/l/_RVpsqLwFWoqO


C. triangles

D. none

Answer: A

Watch Video Solution

27. The graph of a pair of linear equations such that

 in two variables in represented by………

A. intersecting lines

B. two triangles

C. circles

D. two parallel lines

Answer: D

Watch Video Solution

= ≠
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_RVpsqLwFWoqO
https://dl.doubtnut.com/l/_2K28Dzr16haG


28. The graph of two linear equations such that  is

represented by……….

A. parallel lines

B. two intersecting lines

C. circles

D. none

Answer: B

Watch Video Solution

≠
a1

a2

b1

b2

29.  then x=………..

A. 

B. 

500x + 240y = 8, 130x + 240y =
43
10

9

200

7
20

https://dl.doubtnut.com/l/_2K28Dzr16haG
https://dl.doubtnut.com/l/_W3xaAtrHh5M5
https://dl.doubtnut.com/l/_NY1xAOnCqb2Y


C. 

D. 

Answer: C

Watch Video Solution

1

100

1

10

30. In the above problem =…

A. 1

B. 0

C. 10

D. none

Answer: D

Watch Video Solution

a5

https://dl.doubtnut.com/l/_NY1xAOnCqb2Y
https://dl.doubtnut.com/l/_3ObW5POBtD5b
https://dl.doubtnut.com/l/_kEufDeCmn6ao


31. Solution to 

is………

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− = 0, + = a + b, x ≠ 0, y ≠ 0
a2

x

b2

y

a2b

x

b2a

y

( − a2, − b2)

(a, b2)

(a, − b)

(a2, b2)

32. Sita has pencils and pens which are together 40 in number. If she

has 5 less pencils and 5 more pens the number of pens become four

times the number of pencils. Represent this situation in a linear

equation form.

https://dl.doubtnut.com/l/_kEufDeCmn6ao
https://dl.doubtnut.com/l/_Oon4lKeKa509


A. x-y=40

B. x+y=40

C. x-y=7

D. all

Answer: B

Watch Video Solution

33. If  then the lines are………lines.

A. parallel

B. intersecting

C. coincident

D. none

Answer: C

= =
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_Oon4lKeKa509
https://dl.doubtnut.com/l/_9yC9vwmeW04i


Watch Video Solution

34. The lines represented by 5x+7y-14=0 and 10x+3y-8=0 are …………

lines.

A. coincident

B. vertical

C. parallel

D. consistent

Answer: D

Watch Video Solution

35. The standard form of a linear equations is………

A. xa+y=0

https://dl.doubtnut.com/l/_9yC9vwmeW04i
https://dl.doubtnut.com/l/_zCo1rbTIqePE
https://dl.doubtnut.com/l/_pi3pQeotsoCo


B. ax+by

C. ax+b=0

D. ax+by+c=0

Answer: D

Watch Video Solution

36. The lines 3x+8y-13=0 and -6x-16y+23=0 are………lines.

A. coincident

B. parallel

C. circular

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pi3pQeotsoCo
https://dl.doubtnut.com/l/_qCs2LDISu2CW


37. The lines represented by 5x+3y-7=0 and 6y+10k-14=0 are………lines.

A. coincident

B. parallel

C. intersecting

D. none

Answer: A

Watch Video Solution

38. The pairs of equations 4x-2y+6=0 and 2x-y+8=0 has………solutions.

A. 1

B. 12

https://dl.doubtnut.com/l/_qCs2LDISu2CW
https://dl.doubtnut.com/l/_sgeKJF9tpBct
https://dl.doubtnut.com/l/_qady1vBz9QdH


C. no solution

D. 10

Answer: C

Watch Video Solution

39. The number of solutions to the pair of equations 6x-7y+8-0 and

12x-14y+10=0 is………..

A. 1

B. 20

C. 3

D. no

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qady1vBz9QdH
https://dl.doubtnut.com/l/_4NFCzdLF6gNJ


40. The number of solutions to the pair of equations 11x-7y=6 and

4x+9y=8 is………

A. 4

B. 3

C. 7

D. 1

Answer: D

Watch Video Solution

41. If the pair of equations kx+14y+8=0 and 3x+7y+6=0 has a unique

solution then……….

A. k ≠ 6

https://dl.doubtnut.com/l/_4NFCzdLF6gNJ
https://dl.doubtnut.com/l/_Ozw1v8Yar550
https://dl.doubtnut.com/l/_36o6vvRPrqv0


B. k=0

C. k=7

D. none

Answer: A

Watch Video Solution

42. 

are……..equations.

A. parallel

B. pair of linear

C. consistent

D. None

Answer: B

a1x + b1y + c1 = 0  and a2x + b∘ y + c2 = 0

https://dl.doubtnut.com/l/_36o6vvRPrqv0
https://dl.doubtnut.com/l/_xguQPH1MXeTR


Watch Video Solution

43. If  then the lines will have………solutions.

A. infinite

B. 2

C. 3

D. 7

Answer: A

Watch Video Solution

= =
a1

a2

b1

b2

c1

c2

44. 3x-2y+6=0,6x-4y+8=0 represents……….lines.

A. consitant

B. inconsistent

https://dl.doubtnut.com/l/_xguQPH1MXeTR
https://dl.doubtnut.com/l/_43oV8LEh00Ed
https://dl.doubtnut.com/l/_xhzjWlDSBkFk


C. circle

D. parallel

Answer: D

Watch Video Solution

45. 5x-2y-10=0,10x-4y-20=0 these are………lines.

A. coincident

B. parallel

C. intersecting

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xhzjWlDSBkFk
https://dl.doubtnut.com/l/_WlT5qHR1L32F
https://dl.doubtnut.com/l/_jyjauZhMDz5a


46. The number of solutions to 4x+6y-7=0 and 8x+5y-8=0 is………

A. 14

B. 3

C. 4

D. 1

Answer: D

Watch Video Solution

47.  then x=………

A. 1

B. 4

C. 2

+ = 2, − = 3
2

x

3

y

12

x

9

y

https://dl.doubtnut.com/l/_jyjauZhMDz5a
https://dl.doubtnut.com/l/_BzrXUTbnhKvn


D. None

Answer: C

Watch Video Solution

48. In the above problem =…

A. 2

B. -1

C. 7

D. 3

Answer: D

Watch Video Solution

a5

https://dl.doubtnut.com/l/_BzrXUTbnhKvn
https://dl.doubtnut.com/l/_iZrK8l6unxdt


49. The lines x=5y passes through…………

A. (1,1)

B. (2,3)

C. (0,9)

D. (0,0)

Answer: D

Watch Video Solution

50. Solve the following equations:

A. 2

B. 3

2x + 3y = 17  and 2x+ 2 − 3y+ 1 = 5

https://dl.doubtnut.com/l/_1rkxs1OMQYPy
https://dl.doubtnut.com/l/_rJAEbmVVeYJN


C. 1

D. 7

Answer: A

Watch Video Solution

51. In the above problem =…

A. 2

B. 4

C. 3

D. None

Answer: C

Watch Video Solution

a5

https://dl.doubtnut.com/l/_rJAEbmVVeYJN
https://dl.doubtnut.com/l/_1kB0kKnQ3Bkd
https://dl.doubtnut.com/l/_rKBRRGtNDxUh


52. Solve the following equations: , ax-by=2ab.

A. 3b

B. 

C. 1

D. 

Answer: A

Watch Video Solution

− = a + b
ax

b

by

a

−3

b

−2a

53. If a = 0 then the equation  has

A. 2a

B. 

C. 

= (a + 1) −
x − a − 1

x − a

1

x − a

−a2

3b − a

https://dl.doubtnut.com/l/_rKBRRGtNDxUh
https://dl.doubtnut.com/l/_VFWFlZWJ3k97


D. 

Answer: A

Watch Video Solution

3A

54. Slope of the line ax+by+c=0 is…………

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

b

a

1

a

a

b

−a

b

https://dl.doubtnut.com/l/_VFWFlZWJ3k97
https://dl.doubtnut.com/l/_rUsmDFCqPeMF


55. The line ax+by+c=0 does not passes through………..

A. (0,0)

B. (a,0)

C. both A & B

D. None

Answer: C

Watch Video Solution

56. If x+y=7,x-y=1 then 2x =………..

A. 3

B. 4

C. 7

https://dl.doubtnut.com/l/_GiPFYL7Lo4Ng
https://dl.doubtnut.com/l/_UJHWXqYZJsff


D. 8

Answer: D

Watch Video Solution

57. In the above problem =…

A. 3

B. 7

C. 1

D. 4

Answer: A

Watch Video Solution

a5

https://dl.doubtnut.com/l/_UJHWXqYZJsff
https://dl.doubtnut.com/l/_2wEdkIE91gTL


58. Slope of the line y=x is………….

A. 2

B. -1

C. 1

D. None

Answer: C

Watch Video Solution

59. The line x=2015 is…….

A. slope not difined

B. parallel to Y-axis

C. both A & B

https://dl.doubtnut.com/l/_ZrosSua3oX0a
https://dl.doubtnut.com/l/_wdE5zL6bo6L3


D. none

Answer: C

Watch Video Solution

60.  then y=………

A. -2

B. 4

C. 1

D. 2

Answer: D

Watch Video Solution

x + = 6, 3x − = 5
6

y

8

y

https://dl.doubtnut.com/l/_wdE5zL6bo6L3
https://dl.doubtnut.com/l/_DDQOrpd29Rym


61. In the above problem x=………..

A. 3

B. 2

C. -1

D. 9

Answer: A

View Text Solution

62. 3x-5y=-1,-y+x=-1 then (x,y)=………

A. (-2,-1)

B. (2,-1)

C. (1,2)

https://dl.doubtnut.com/l/_zd9JthWpy4D8
https://dl.doubtnut.com/l/_M7bdIi7uxrE5


D. None

Answer: A

Watch Video Solution

63. The graph of 3x-y=-1………..

A. circle

B. straight line

C. curve

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_M7bdIi7uxrE5
https://dl.doubtnut.com/l/_4LSdPDnTMr4z


64. The value of y in -5x+10y=100 at x=0 is………

A. 12

B. 9

C. -10

D. 10

Answer: D

Watch Video Solution

65. If x+y=36, then at y=-1,x=………..

A. 38

B. 37

C. 80

https://dl.doubtnut.com/l/_aWeUk1QLJT3C
https://dl.doubtnut.com/l/_orXUcezMnzIc


D. 12

Answer: B

Watch Video Solution

66. x+y=10,x-y=-4 then x=………..

A. 4

B. 3

C. 5

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_orXUcezMnzIc
https://dl.doubtnut.com/l/_ITSXriKWJspu


67. Present ages of Sameer and Anand are in the ratio of 5 : 4

respectively. Three years hence, the ratio of their ages will become 11

: 9 respectively. What is Anand's present age in years?

Watch Video Solution

68. Solution to 2x-2y-2=0, 4x-4y-5=0 is………..

A. (1,4)

B. (2,-1)

C. 

D. No solution

Answer: D

Watch Video Solution

(8, − )
1

4

https://dl.doubtnut.com/l/_M2di4q85hKfK
https://dl.doubtnut.com/l/_8CqFQHoh5PtY
https://dl.doubtnut.com/l/_faxpZreKHrV7


69. The two lines 2x+y-6=0 and 4x-2y-4=0 intersect at……

A. (2,2)

B. (3,2)

C. (1,-4)

D. (1,1)

Answer: A

Watch Video Solution

70. Solution to x-y=1, 2x-2y=7 is………

A. (1,1)

B. (1,9)

C. (8,4)

D. No solution

https://dl.doubtnut.com/l/_faxpZreKHrV7
https://dl.doubtnut.com/l/_H6plUhrNda0c


Answer: D

Watch Video Solution

71. ……………

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2, ) ∈
−1

4

Q4

Q3

Q2

Q1

72. =……….IfQ1 = {1, 2, 5, 6} and Q2 = {3, 4, 9, 10}Q1 ∩ Q2

https://dl.doubtnut.com/l/_H6plUhrNda0c
https://dl.doubtnut.com/l/_jzWTExXjvS6d
https://dl.doubtnut.com/l/_XEP8Xm1NOGv3


A. { }

B. {1,2,3}

C. {8,9}

D. none

Answer: A

Watch Video Solution

73. Perimeter of rectangle =………

A. l+b

B. l-b

C. 2(l+b)

D. 

Answer: C

l + b

2

https://dl.doubtnut.com/l/_XEP8Xm1NOGv3
https://dl.doubtnut.com/l/_CKeiAtQU0PpZ


Watch Video Solution

74. x+y=2015 has …….. Number of solutions.

A. 10

B. 2014

C. 20

D. infinite

Answer: D

Watch Video Solution

75. px+3y-(p-3)=0, 12x+py-p=0 has infinitely many solutions then

p=………….

A. 7

https://dl.doubtnut.com/l/_CKeiAtQU0PpZ
https://dl.doubtnut.com/l/_77bMo1VakBAX
https://dl.doubtnut.com/l/_SmNg8eQUDOLk


B. 9

C. 

D. 

Answer: D

Watch Video Solution

±71

±6

76. For what value of 'k', the pair of equation 3x+4y+2=0 and

9x+12y+k=0 represent coincident lines.

A. 12

B. 9

C. 6

D. 7

Answer: C

https://dl.doubtnut.com/l/_SmNg8eQUDOLk
https://dl.doubtnut.com/l/_FS6NzAqxKdp1


Watch Video Solution

77. 2x+3y=1,3x-y=7 then (x,y)=………….

A. (2,-1)

B. (-2,1)

C. 

D. `(0,3)

Answer: A

Watch Video Solution

(8, )
1

4

78. If 7x-8y=9, then y=………..

A. 

B. 

9 + 7x

7x − 9
8

https://dl.doubtnut.com/l/_FS6NzAqxKdp1
https://dl.doubtnut.com/l/_iHeZQd5PaYx3
https://dl.doubtnut.com/l/_FR0FCob7o9Qr


C. 

D. none

Answer: B

Watch Video Solution

9 − 7x
6

79. Slope of the line x=2y is…………

A. 2

B. -2

C. 1

D. 

Answer: D

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_FR0FCob7o9Qr
https://dl.doubtnut.com/l/_PEt4Vzp2tGs8
https://dl.doubtnut.com/l/_J5Ggrd3qLKK3


80. Slope of X-axis is .....

A. 0

B. 1

C. -1

D. 2

Answer: A

Watch Video Solution

81. Angle between any two parallel lines is …………

A. 

B. 

C. 

70∘

0∘

100∘

https://dl.doubtnut.com/l/_J5Ggrd3qLKK3
https://dl.doubtnut.com/l/_wIRQqMnnIVO6


D. 

Answer: B

Watch Video Solution

180∘

82. 4m-2n=2,6m-5n=9 then n=…………

A. 5

B. 4

C. 1

D. -3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wIRQqMnnIVO6
https://dl.doubtnut.com/l/_yob3uWLZA3Oh


83. A is two years older than B who is twice as old as C. If the total of

the ages of A, B and C be 27, then how old is B?

A. 7

B. 8

C. 9

D. 10

Answer: D

Watch Video Solution

84. 2u+3v=2,4u-6v=0 then v=……..

A. 

B. 1

1

2

https://dl.doubtnut.com/l/_zXgEa7PFnCBb
https://dl.doubtnut.com/l/_kan9hYPDf2aP


C. 

D. 

Answer: D

Watch Video Solution

1

31

1

3

85. If  is expressed in the form of  the value of p+q is

A. 

B. 

C. 2

D. 4

Answer: B

Watch Video Solution

0. ¯̄̄¯35
p

q

1

21

1

2

https://dl.doubtnut.com/l/_kan9hYPDf2aP
https://dl.doubtnut.com/l/_yaLNkZfmgFHO
https://dl.doubtnut.com/l/_qTU45TWFgshq


86. Area of rectangle =……….

A. 

B. 

C. lb

D. none

Answer: C

Watch Video Solution

l2b

l

b

87.  then x=……..

A. 1

B. 4

C. 51

− y = 2, + 2y − 4
x + 3

2

x − 3

2

1

2

https://dl.doubtnut.com/l/_qTU45TWFgshq
https://dl.doubtnut.com/l/_gSzXTfhBO0av


D. none

Answer: D

Watch Video Solution

88. The sum of ages of 5 children born at the intervals of 3 years

each is 50 years. What is the age of the youngest child?

A. 4 years

B. 8 years

C. 10 years

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gSzXTfhBO0av
https://dl.doubtnut.com/l/_E9XjnIp8CI1G
https://dl.doubtnut.com/l/_xPwzw4Ci5cfx


89. If ax+b=0, then x=………

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

−b

−
b

a

b

a

90. 2x-3y=-12 then at x=0, y=………..

A. 4

B. 6

C. 8

D. 12

https://dl.doubtnut.com/l/_xPwzw4Ci5cfx
https://dl.doubtnut.com/l/_XtHClNS1OOVY


Answer: A

Watch Video Solution

91. Two parallel lines differ by……….

A. circle

B. triangles

C. constant

D. none

Answer: C

Watch Video Solution

92. x=1 and y=  then x-y=…………−
1

2

https://dl.doubtnut.com/l/_XtHClNS1OOVY
https://dl.doubtnut.com/l/_lJtJ14aQkgxx
https://dl.doubtnut.com/l/_M6U8Blh0etrf


A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

−1

−
1

2

3

2

93. If 99x+101y=499,101x+99y=501 then x=………..

A. -1

B. 3

C. 4

D. 2

Answer: B

https://dl.doubtnut.com/l/_M6U8Blh0etrf
https://dl.doubtnut.com/l/_cPGhQRjJbETl


Watch Video Solution

94. Father is aged three times more than his son Ronit. After 8 years,

he would be two and a half times of Ronit's age. After further 8

years, how many times would he be of Ronit's age?

A. 2 times

B. 2 1/2 times

C. 2 3/4 times

D. 3 times

Answer: A

Watch Video Solution

95. 141x+93y=189,93x+141y=45 then y=……..

https://dl.doubtnut.com/l/_cPGhQRjJbETl
https://dl.doubtnut.com/l/_cF52Wf3XtT7e
https://dl.doubtnut.com/l/_fDO1gAtuFeMZ


A. -1

B. 4

C. 2

D. 3

Answer: A

Watch Video Solution

96. In the above problem =…

A. 3

B. 4

C. 1

D. 2

Answer: D

a5

https://dl.doubtnut.com/l/_fDO1gAtuFeMZ
https://dl.doubtnut.com/l/_oKk972r9vELd


Watch Video Solution

97. If -x-y=-10, then x=………….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y − 3

y2 − 1

y − 10

−y + 10

98. ……………

A. 

B. 

( − a, − b) ∈

Q2

Q3

https://dl.doubtnut.com/l/_oKk972r9vELd
https://dl.doubtnut.com/l/_i8bAOrJkj6Fg
https://dl.doubtnut.com/l/_sJLtFG9hAuHF


C. 

D. 

Answer: B

Watch Video Solution

Q1

Q4

99. (2,0) lines on………

A. 

B. 

C. x-axis

D. y-axis

Answer: C

Watch Video Solution

Q1

Q2

https://dl.doubtnut.com/l/_sJLtFG9hAuHF
https://dl.doubtnut.com/l/_5DnPTh2qE2Z1
https://dl.doubtnut.com/l/_fnhZPLGuiu9M


100. The line x-y=8 intersect X-axis at………

A. (2,3)

B. (1,1)

C. (0,8)

D. (8,0)

Answer: D

Watch Video Solution

101. The values of k for which the pair of linear equations 3x-2y=7

and 6x+ky+11=0 has a unique solution is ………..

A. all numbers except 4

B. all numbers except -4

C. 4

https://dl.doubtnut.com/l/_fnhZPLGuiu9M
https://dl.doubtnut.com/l/_S4veMoTUW8EB


D. -4

Answer: B

Watch Video Solution

102. The pair of linear equations -3x+4y=7 and 

has…………

A. infinite number of solutions

B. no solution

C. two solutions

D. unique solution

Answer: A

Watch Video Solution

x − 6y + = 0
9

2

21

2

https://dl.doubtnut.com/l/_S4veMoTUW8EB
https://dl.doubtnut.com/l/_azpMBGpcWSZm
https://dl.doubtnut.com/l/_8ghDJmfgJzvp


103. If  then the pair of linear equations ax+by=p and

cx+dy=q has……….solutions.

A. no

B. unique

C. 2

D. none

Answer: B

Watch Video Solution

ad ≠ bc

104. A line parallel to the line x+2y+1=0 is…………

A. 

B. 

C. 

x + y + 3 = 0

2x + 4y + 1 = 0

x − y + 1 = 0

https://dl.doubtnut.com/l/_8ghDJmfgJzvp
https://dl.doubtnut.com/l/_3HMmEeCLjJuE


D. all

Answer: B

Watch Video Solution

105. The pair of equations x=3,y=2 graphically represent lines

which……..

A. intersect at (3,2)

B. intersect at (4,3)

C. parallel

D. coincident

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_3HMmEeCLjJuE
https://dl.doubtnut.com/l/_JXh6ZTCk1vsa
https://dl.doubtnut.com/l/_7TNn3hdFlt3Z


106. If the pair of equations 2x+y=7 and 6x-py-21=0 has infinite

number of solutions then p=………..

A. 3

B. 4

C. 5

D. none

Answer: D

Watch Video Solution

107. The value of k for which the system of equations kx+3y=1,

12x+ky=2 has no solution is………

A. 

B. 

k = − 1

k = 3

https://dl.doubtnut.com/l/_7TNn3hdFlt3Z
https://dl.doubtnut.com/l/_RhF8Lmeti1wY


C. 

D. 

Answer: D

Watch Video Solution

k = 2

k = − 6

108. The line 3x+y=7 intersects X-axis at…………

A. 

B. 

C. 

D. (0,3)

Answer: A

Watch Video Solution

( , 0)
7
3

(0, )
7
2

(0, 1)

https://dl.doubtnut.com/l/_RhF8Lmeti1wY
https://dl.doubtnut.com/l/_DWbTnz0av3K9
https://dl.doubtnut.com/l/_ocBNJgfeZ3Qt


109. For what value of k, 2x+3y=4 and (k+2)x+6y=3k+2 will have

infinitely many solutions?

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

k = − 1

k = 2

k = 7

110.  then x=………

A. 

B. 17

C. -3

+ = 9, + = 8
x + 1

2

y + 1

3

x − 1

3

y + 1

2

53

5

https://dl.doubtnut.com/l/_ocBNJgfeZ3Qt
https://dl.doubtnut.com/l/_xd0uL4JIR6e3


D. 10

Answer: A

Watch Video Solution

111. In the above problem height=____cm.

A. 4

B. -3

C. 9

D. 7

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xd0uL4JIR6e3
https://dl.doubtnut.com/l/_UNfK8FW4M4sv


112. If the equations (2m-1)x+3y-5=0, 3x+(n-1)y-2=0 has Inflnlte num.

ber of solutions then n=…………

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

5

11

1

5

11

5

113. In the above problem =…

A. 

B. 

a5

17
4

7
4

https://dl.doubtnut.com/l/_hq1c3NY0L3SG
https://dl.doubtnut.com/l/_mc2tOwsaBVIF


C. 

D. 

Answer: A

Watch Video Solution

1

2

8

3

114. A fraction becomes  if 2 is added to both numerator and

denominator. If 3 is added to both numerator and denominator It

bevomes  Then the fraction is ……….

A. 

B. 

C. 

D. 

Answer: D

9

11

5

6

3

4

1

2

9

7

7
9

https://dl.doubtnut.com/l/_mc2tOwsaBVIF
https://dl.doubtnut.com/l/_18I9tUzZWWC9


Watch Video Solution

115. The ration of incomes of two persons is 11: 7 and the ration of

their expenditurca is 9 :5, if each of them manages to save Rs400

per month then the monthly income of first person is …………

A. Rs 2200

B. Rs 1200

C. Rs 800

D. Rs 1010

Answer: A

Watch Video Solution

116. The ratio of incomes of two persons is 9:7 and the ratio of their

expenditures is 4:3. If each of them saves Rs 200 per month, find

https://dl.doubtnut.com/l/_18I9tUzZWWC9
https://dl.doubtnut.com/l/_7DHNrQraZNFj
https://dl.doubtnut.com/l/_hKVifad79LpY


monthly income of second person is…….

A. Rs 8001

B. Rs 1100

C. Rs. 1400

D. Rs. 4100

Answer: C

Watch Video Solution

117. The age of a father 8 years ago was 5 times that of his son 8

years. Hence, his age will be 8 years more than twice the age of his

son. Then the present age of fatherd is ………years.

A. 80

B. 92

https://dl.doubtnut.com/l/_hKVifad79LpY
https://dl.doubtnut.com/l/_baDr95I6sF2u


C. 24

D. 48

Answer: D

Watch Video Solution

118. A father is 30 years older than his son.One year ago he was 4

times as old as his son.Find their present ages

Watch Video Solution

119. The two lines 2x-y=1,x+2y=13 will intersect at ………..

A. (5,3)

B. (3,5)

C. (1,3)

https://dl.doubtnut.com/l/_baDr95I6sF2u
https://dl.doubtnut.com/l/_MEIfdMuyYChZ
https://dl.doubtnut.com/l/_YMmgBmXG6MYT


D. (3,9)

Answer: B

Watch Video Solution

120. Identity parallel lines

A. 

B. 

C. 

D. all

Answer: A

Watch Video Solution

2x + 3y = 6, 8x + 12y = 9

x + y = 7, x − y = 1

2x + y = 7, 3x − y = 7

https://dl.doubtnut.com/l/_YMmgBmXG6MYT
https://dl.doubtnut.com/l/_omQQ8dSYuvpt


121. Solution to 2x+3y=12,2y-1=x is……………

A. (8,-1)

B. (3,8)

C. (3,2)

D. (1,-1)

Answer: C

Watch Video Solution

122. The lines x-y=1, 2x+y=8 intersect at …………

A. (1,9)

B. (9,3)

C. (3,4)

https://dl.doubtnut.com/l/_TtD9WJw8jJU7
https://dl.doubtnut.com/l/_CbqLudLkHex3


D. none

Answer: D

Watch Video Solution

123. If  then x=……….

A. 4

B. 7

C. -1

D. 3

Answer: A

Watch Video Solution

+ = 2, + = 1
5

x − 1

1

y − 2

6

x − 1

−3

y − 2

https://dl.doubtnut.com/l/_CbqLudLkHex3
https://dl.doubtnut.com/l/_NHhtH2AwzyzU


Exercise

124. Sachin is younger than Rahul by 7 years. If their ages are in the

respective ratio of 7 : 9, how old is Sachin?

A. 16 years

B. 18 years

C. 28 years

D. 24.5

Answer: D

Watch Video Solution

1. The cost of 1kg potatoes and 2 kg tomatoes was Rs. 30 on a

certain day. After two days, the cost of 2 kg potatoes and 4 kg

https://dl.doubtnut.com/l/_eE2yvaxWTbK5
https://dl.doubtnut.com/l/_6hWic7c0KMI8


tomatoes was found to be Rs. 66.Identify the unknowns in each

situation. We observe that there are two unknowns in each case.

Watch Video Solution

2. The coach of a cricket team of M.K.Nagar High School buys 3 bats

and 6 balls for Rs. 3900. Later he buys one more bat and 2 balls for

Rs. 1300. Identify the unknowns in each situation. We observe that

there are two unknowns in each case.

Watch Video Solution

3. Is a dependent pair of linear equations always consistent? Why or

why not?

Watch Video Solution

https://dl.doubtnut.com/l/_6hWic7c0KMI8
https://dl.doubtnut.com/l/_wZFbHHhknsur
https://dl.doubtnut.com/l/_Ng6V84TqrFXW


4. Which of the following equations is not a linear equation?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5 + 4x = y + 3

x + 2y = y − x

3 − x = y2 + 4

x + y = 0

5. Which of the following is a linear equation in one variable?

A. 

B. 

C. 

2x + 1 = y − 3

2t − 1 = 2t + 5

2x − 1 = x2

https://dl.doubtnut.com/l/_4iUJ3Jdcz7ul
https://dl.doubtnut.com/l/_8q0sxhKj7l4O


D. 

Answer:

Watch Video Solution

x2 − x + 1 = 0

6. Which of the following numbers is a solution for the equation

2(x+3)=18?

A. 5

B. 6

C. 13

D. 21

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8q0sxhKj7l4O
https://dl.doubtnut.com/l/_1hToNZIeQcin
https://dl.doubtnut.com/l/_0OnSihi7myyX


7. The value of x which satisfies the equation 2x-(4-x)=5-x is

A. 

B. 3

C. 2.25

D. 0.5

Answer:

Watch Video Solution

4.5

8. The equation x-4y=5 has

A. no solution

B. unique solution

C. two solution

D. Infinitely many solution

https://dl.doubtnut.com/l/_0OnSihi7myyX
https://dl.doubtnut.com/l/_WAsZwSlYRhQG


Answer:

Watch Video Solution

9. In the example given above, can you find the cost of each bat and

ball?

Watch Video Solution

10. For what value of 'p' the following pair of equations has a unique

solution. 2x+py=-5 and 3x+3y=-6.

Watch Video Solution

11. Find the value of 'k' for which the pair of equations 2x-ky+3=0,

4x+6y-5=0 represent parallel lines.

h id l i

https://dl.doubtnut.com/l/_WAsZwSlYRhQG
https://dl.doubtnut.com/l/_ynKXUGl2CaYY
https://dl.doubtnut.com/l/_DHS0l5gyE0RN
https://dl.doubtnut.com/l/_8UIFstaBb8fG


Watch Video Solution

12. For what value of 'k', the pair of equation 3x+4y+2=0 and

9x+12y+k=0 represent coincident lines.

Watch Video Solution

13. For what positive values of 'p' the folllowing pair of linear

equations have infinitely many solutions? 

, 

Watch Video Solution

px + 3y − (p − 3) = 0 12x + py − p = 0

14. Represent the following systems of equations graphically and

comment on solutions 

Watch Video Solution

x − 2y = 0, 3x + 4y = 20

https://dl.doubtnut.com/l/_8UIFstaBb8fG
https://dl.doubtnut.com/l/_uYtzNCVUS9IA
https://dl.doubtnut.com/l/_2rjzEUZGPyU3
https://dl.doubtnut.com/l/_Ht6Vb0dbTAWA


15. Solve the following systems of equations: 

x+y=2, 2x+2y=4.

Watch Video Solution

16. Solve the following systems of equations: 

2x-y=4, 4x-2y=6.

Watch Video Solution

17. Represent the pair of linear equations  and

 graphically and comment on solutions.

Watch Video Solution

x + 2y − 4 = 0

2x + 4y − 12 = 0

https://dl.doubtnut.com/l/_qquFjiJnrlYv
https://dl.doubtnut.com/l/_toeS9bJ3y1Ww
https://dl.doubtnut.com/l/_QoeH8lfPFZk4


18. Check each of the given sustems of equations to see if has a

unique solution, infinitely many solutions or no solution. Solve them

graphically. 

2x+3y=1, 3x-y=7.

Watch Video Solution

19. Check each of the given sustems of equations to see if has a

unique solution, infinitely many solutions or no solution. Solve them

graphically. 

x+2y=6, 2x+4y=12.

Watch Video Solution

20. Check each of the given sustems of equations to see if has a

unique solution, infinitely many solutions or no solution. Solve them

https://dl.doubtnut.com/l/_xY1S0PkmBgOC
https://dl.doubtnut.com/l/_OGREe1Cy3zXo
https://dl.doubtnut.com/l/_b6VbNtN0YayR


graphically. 

3x+2y=6, 6x+4y=18.

Watch Video Solution

21. Check whether the given pair of equations represent

intersecting, parallel or coincident lines. Find the solution if the

equations are consistent. 

Watch Video Solution

2x + y − 5 = 0, 3x − 2y − 4 = 0

22. Check whether the following pair of equations is consistent.

3x+4y=2 and 6x+8y=4 Varify by a graphical representation.

Watch Video Solution

https://dl.doubtnut.com/l/_b6VbNtN0YayR
https://dl.doubtnut.com/l/_3Y34FXrgY4x7
https://dl.doubtnut.com/l/_Pzwo2vc6NPxZ


23. Check whether the equations 2x-3y=5 and 4x-6y=15 are

consistent. Also verify by graphical representation.

Watch Video Solution

24. In a garden there are some bees and flowers. If one bee sits on

each flower, then one bee will be left. If two bees sit on each flower,

once flower will be left. Find the number of bees and number of

flowers.

Watch Video Solution

25. The perimeter of a rectangular plot is 32m. If the length is

increased by 2m and the breadth is decreased by 1m, the area of the

plot remains the same. Find the length and breadth of the plot.

Watch Video Solution

https://dl.doubtnut.com/l/_l41tGmv0sPM6
https://dl.doubtnut.com/l/_CP8Ob2gLdTG9
https://dl.doubtnut.com/l/_a5WWpyLDnUwm


26. By comparing the ratios , find out whether the

represented by the following pairs of linear equations intersect at a

point, are parallel or are coincident. 5x-4y+8=0, 7x+6y-9=0.

Watch Video Solution

, ,
a1

a2

b1

b2

c1

c2

27. By comparing the ratios , find out whether the

represented by the following pairs of linear equations intersect at a

point, are parallel or are coincident. 9x+3y+12=0 , 18x+6y+24=0.

Watch Video Solution

, ,
a1

a2

b1

b2

c1

c2

28. By comparing the ratios , find out whether the

represented by the following pairs of linear equations intersect at a

point, are parallel or are coincident. 6x-3y+10=0 , 2x-y+9=0.

Watch Video Solution

, ,
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_a5WWpyLDnUwm
https://dl.doubtnut.com/l/_u2fu8d46WHZM
https://dl.doubtnut.com/l/_HJuXhtwMgf3K
https://dl.doubtnut.com/l/_taIrAQ5oWiae


Watch Video Solution

29. Check whether the following equations are consistent or

inconsistent. Solved them graphically. , 

Watch Video Solution

3x + 2y = 5 2x − 3y = 7

30. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

2x-3y=8 , 4x-6y=9.

Watch Video Solution

31. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

 , 9x-10y=12.

Watch Video Solution

x + y = 7
3

2

5

3

https://dl.doubtnut.com/l/_taIrAQ5oWiae
https://dl.doubtnut.com/l/_eno2OFY9s3xq
https://dl.doubtnut.com/l/_ZRB20bVSSu4Y
https://dl.doubtnut.com/l/_pzKB1blQuAeZ


32. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

5x-3y = 11, -10x+6y = -22

Watch Video Solution

33. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

Watch Video Solution

x + 2y = 8, 2x + 3y = 12
4

3

34. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

x+y=5 , 2x+2y=10.

https://dl.doubtnut.com/l/_pzKB1blQuAeZ
https://dl.doubtnut.com/l/_K6xoaSRPcdA0
https://dl.doubtnut.com/l/_LDpXmtP3eT0S
https://dl.doubtnut.com/l/_x2MbOPVxuz3W


Watch Video Solution

35. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

x-y=8 , 3x-3y=16.

Watch Video Solution

36. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

2x+y-6=0 and 4x-2y-4=0.

Watch Video Solution

37. Check whether the following equations are consistent or

inconsistent. Solve them graphically. 

https://dl.doubtnut.com/l/_x2MbOPVxuz3W
https://dl.doubtnut.com/l/_eJwVdNRvN3LF
https://dl.doubtnut.com/l/_aQGWEc0HCAAl
https://dl.doubtnut.com/l/_CfMZcrmyosvD


2x-2y-2=0 and 4x-4y-5=0.

Watch Video Solution

38. Neha went to a 'sale' to purchase some pants and skirts. When

her friend asked her how many of each she had bought, she

answered "The number of skirts are two less than twice the number

of pants purchased. Also the number of skirts is four less than four

times the number or pants purchased." Help her friends to find how

many pants and skirts Neha bought.

Watch Video Solution

39. 10 students of Class-X took part in a mathematics quiz. If the

number of girls in 4 more than the number of boys then, find the

number of boys and the number of girls who took part in the quiz.\

Watch Video Solution

https://dl.doubtnut.com/l/_CfMZcrmyosvD
https://dl.doubtnut.com/l/_VnIaOjnqHbtM
https://dl.doubtnut.com/l/_0gMU0UtgR2AX


40. 5 pencils and 7 pens together cost Rs. 50 where as 7 pencils and

5 pens together cost Rs. 46. Find the cost of one pencil and that of

one pen.

Watch Video Solution

41. Half the perimeter of a rectangular garden, whose length is 4m

more than its width, is 36m. Find the dimensions of the garden.

Watch Video Solution

42. We have a linear quations 2x + 3y - 8 = 0. Write another linear

equation in two variables x and y such that the geometrical

representation of the pair so formed is intersecting lines. 

Now, write two more linear equations so that one forms a pair of

https://dl.doubtnut.com/l/_0gMU0UtgR2AX
https://dl.doubtnut.com/l/_P9ONi7dl9gUh
https://dl.doubtnut.com/l/_olenAM0XhGzs
https://dl.doubtnut.com/l/_0OMZsIzODEco


parllel lines and the second forms coincident line with the given

equation.

Watch Video Solution

43. The area of a rectangle gets reduced by 80 sq. units if its length

is reduced by 5 units and breadth is increased by 2 units. If we

increase the length by 10 units and decrease the breadth by 5 units,

the area will increase by 50 sq. units. Find the length and breadth of

the rectangle.

Watch Video Solution

44. In X class, if three students sit on each bench, one student will

be left. If four students sit on each bench, one bench will be left.

Find the number of students and the number of benches in that

class.

https://dl.doubtnut.com/l/_0OMZsIzODEco
https://dl.doubtnut.com/l/_x2QA9iGlcg3r
https://dl.doubtnut.com/l/_6oqvwRwt0Jrr


Watch Video Solution

45. Solve the given pair of equations using substitution method. 2x-

y=5,3x+2y=11

Watch Video Solution

46. Solve the following pair of linear equations using elimination

method. 3x+2y=11,2x+3y=4

Watch Video Solution

47. Rubina went to a bank to withdraw Rs. 2000. She asked the

cashier to give the cash in Rs. 50 and Rs. 100 notes only. She got 25

notes in all. Can you tell how many notes each of Rs. 50 and Rs. 100

she received?

W h Vid S l i

https://dl.doubtnut.com/l/_6oqvwRwt0Jrr
https://dl.doubtnut.com/l/_aRkfEYT6vFtm
https://dl.doubtnut.com/l/_wwFJF2MI1pbV
https://dl.doubtnut.com/l/_JwAvnsIWvTF8


Watch Video Solution

48. In a competitive exam, 3 marks are to be awarded for every

correct answer and for every wrong answer, 1 mark will be deducted.

Madhu scored 40 marks in this exam. Had 4 marks been awarded for

each correct answer and 2 marks deducted for each incorrect

answer, Madhu would have scored 50 marks. How many questions

were three in the test?

Watch Video Solution

49. Mary told her daughter, "Seven years ago, I was seven times as

old as you were then. Also, three years from now, I shall be three

times as old as you will be." Find the present age of Mary and her

daughter.

Watch Video Solution

https://dl.doubtnut.com/l/_JwAvnsIWvTF8
https://dl.doubtnut.com/l/_dl6l6C8J3dhR
https://dl.doubtnut.com/l/_BciuxZgBxfHp
https://dl.doubtnut.com/l/_LdKW0YnZqvYV


50. A publisher is planning to produce a new textbook. The fixed

costs are Rs. 320000 per book. Besides that, he also spends another

Rs. 31.25 in producing the book. The wholesale price is Rs. 43.75 per

book. How many books must the publisher sell to break even,i.e., so

that the cost of production will equal revenues?

Watch Video Solution

51. Solve each pair of equation by using the substitution method. 3x-

5y=-1 and x-y=-1.

Watch Video Solution

52. Solve each pair of equation by using the substitution method.

 and 2x-3y=12.

Watch Video Solution

x + 2y = − 1

https://dl.doubtnut.com/l/_LdKW0YnZqvYV
https://dl.doubtnut.com/l/_T4tTqTKn1iwY
https://dl.doubtnut.com/l/_XnpH33gmqlsd


53. Solve each pair of equation by using the substitution method.

2x+3y=9 and 3x+4y=5.

Watch Video Solution

54. Solve each pair of equation by using the substitution method.

 and .

Watch Video Solution

x + = 6
6

y
3x − = 5

8

y

55. Solve each pair of equation by using the substitution method.

0.2x+0.3y=1.3 and 0.4x+0.5y=2.3.

Watch Video Solution

https://dl.doubtnut.com/l/_XnpH33gmqlsd
https://dl.doubtnut.com/l/_clLaRMi8ECsq
https://dl.doubtnut.com/l/_KOnZ05Q33WRr
https://dl.doubtnut.com/l/_hJnbe38oe76F


56. Solve each pair of equation by using the substitution method.

 and .

Watch Video Solution

√2x + √3y = 0 √3x − √8y = 0

57. Solve each of the following pairs of equations by the elimination

method. 8x+5y=9 and 3x+2y=4.

Watch Video Solution

58. Solve each of the following pairs of equations by the elimination

method. 2x+3y=8 and 4x+6y=7.

Watch Video Solution

https://dl.doubtnut.com/l/_Gli8bgB1kNrm
https://dl.doubtnut.com/l/_hmLpBFdMqy88
https://dl.doubtnut.com/l/_6CgH3kg9aEuy


59. Solve each of the following pairs of equations by the elimination

method. 3x+4y=25 and 5x-6y=-9.

Watch Video Solution

60. In a competitive exam, 3 marks are to be awarded for every

correct answer and for every wrong answer, 1 mark will be deducted.

Madhu scored 40 marks in this exam. Had 4 marks been awarded for

each correct answer and 2 marks deducted for each incorrect

answer, Madhu would have scored 50 marks. How many questions

were three in the test?

Watch Video Solution

61. Mary told her daughter, "Seven years ago, I was seven times as

old as you were then. Also, three years from now, I shall be three

https://dl.doubtnut.com/l/_i0JtbK9QysW8
https://dl.doubtnut.com/l/_KyxFI3c3RNst
https://dl.doubtnut.com/l/_GgNbJwsxYVZZ


times as old as you will be." Find the present age of Mary and her

daughter.

Watch Video Solution

62. Solve the given pair of linear equations.

.

Watch Video Solution

(a − b)x + (a + b)y = a2 − 2ab − b2  and (a + b)(x + y) = a2 + b2

63. The ratio of incomes of two persons is 9:7 and the ratio of their

expenditures is 4:3. If each of them saves Rs 200 per month, find

monthly income of second person is…….

Watch Video Solution

https://dl.doubtnut.com/l/_GgNbJwsxYVZZ
https://dl.doubtnut.com/l/_JWQTJ8Y70bM9
https://dl.doubtnut.com/l/_SkabyDVzRgkL


64. The sum of two digit number and the number obtained by

reversing the digits is 66. If the digits of the number differ by 2, Find

the number. How many such numbers are there?

Watch Video Solution

65. The larger of two supplementary angles excceds the smaller by

. Find the angles.

Watch Video Solution

18∘

66. The text charges in Hyderabad are fixed, along with the charge

for the distance covered. For a distance of 10 km, the charge paid is

Rs. 220. For a journey of 15 km, the charge paid is Rs. 310. 

What are the fixed charges and charge per km?

Watch Video Solution

https://dl.doubtnut.com/l/_liDVAYDpiTCZ
https://dl.doubtnut.com/l/_3LcgkNdMz2MH
https://dl.doubtnut.com/l/_YI1c6AZsLakJ


67. The texi charges in Hyderabad are fixed, along with the charge

for the distance covered. For a distance of 10 km, the charge paid is

Rs. 220. For a journey of 15 km, the charge paid is Rs. 310. 

How much does a person have to pay for travelling a distance of 25

km?

Watch Video Solution

68. A fraction becomes equal to  if 1 is added to both numerator

and denominator. If, however, 5 is subtracted from both numerator

and denominator, the fraction becomes equal to . What is the

fractions?

Watch Video Solution

4
5

1

2

https://dl.doubtnut.com/l/_YI1c6AZsLakJ
https://dl.doubtnut.com/l/_CfWcOCqmIJQd
https://dl.doubtnut.com/l/_SKxWbg2PZQod


69. Places A and B are 100 km apart on a highway. One car starts

from A and another from B at the same time at different speeds. If

the caras travel in the same direction, they meet in 5 hours. If they

travel towards each other, they meet in 1 hour. What are the speeds

of the two cars?

Watch Video Solution

70. Two angles are complementary. The larger angle is  less than

twice the measure of the smaller angle. Find the measure of each

angle.

Watch Video Solution

3∘

71. An algebra textbook has a total of 1382 pages. It is broken up

into two parts. The second part of the book has 64 pages more than

https://dl.doubtnut.com/l/_MZQAdWs42cz7
https://dl.doubtnut.com/l/_5QMgOoXYZQLB
https://dl.doubtnut.com/l/_53SRidH0B8pe


the first part. How many pages are in each part of the book?

Watch Video Solution

72. A chemist has two solutions of hydrochloric acid in stock. One is

50% solution and the other is 80% solution. How much of each

should be used to obtain 100 ml of a 68% solution?

Watch Video Solution

73. Suppose you have Rs. 12000 to invest. You have to invest some

amount at 10% and the rest at 15%. How much should be invested

at each rate to yield 12% on the total amount invested?

Watch Video Solution

https://dl.doubtnut.com/l/_53SRidH0B8pe
https://dl.doubtnut.com/l/_3g8t4pqJn1ZF
https://dl.doubtnut.com/l/_9LLslWqvKzg3


74. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

where .

Watch Video Solution

+ = 13
2

x

3

y
− = − 2

5

x

4
y

x ≠ 0, y ≠ 0

75. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

Watch Video Solution

+ = 4
10

x + y

2

x − y

− = − 2
15

x + y

5

x − y

76. Kavitha thought of constructing 2 more rooms in her house. She

enquired about the labour. She came to know that 6 men and 8

women could finish this work in 14 days. But she wish to complete

that work in only 10 days. When she enquired, she was told that 8

https://dl.doubtnut.com/l/_3zzjz5bZ70fK
https://dl.doubtnut.com/l/_vnLqj594Ph4S
https://dl.doubtnut.com/l/_JG5P7OeF5YCt


men and 12 women could finish the work in 10 days. Find out the

how much time would be taken to finish the work if one man or one

woman worked alone.

Watch Video Solution

77. A man travels 370 km partly by train and partly by car. If he

covers 250 km by train and the rest by car, it takes him 4 hours. But

if he travels 130 km by train and the rest by car, it takes 18 minutes

more. Find the speed of the train and that of the car.

Watch Video Solution

78. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.

.

Watch Video Solution

+ = 2  and − = 1
5

x − 1

1

y − 2

6

x − 1

3

y − 2

https://dl.doubtnut.com/l/_JG5P7OeF5YCt
https://dl.doubtnut.com/l/_BrF0q1vYwLjv
https://dl.doubtnut.com/l/_cBoZtHFgQ0Zl


79. Solve each of the following pairs of equations by reducing them

to a pair of linear equations. 

Watch Video Solution

= 2, = 6
x + y

xy

x − y

xy

80. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

Watch Video Solution

+ = 2
2

√x

3

√y

− = − 1
4

√x

9

√y

81. Solve each of the following pairs of equations by reducing them

to a pair of linear equations. 6x+3y=6xy and 2x+4y=5xy.

Watch Video Solution

https://dl.doubtnut.com/l/_cBoZtHFgQ0Zl
https://dl.doubtnut.com/l/_tpQoCBC8kO0o
https://dl.doubtnut.com/l/_YjEw8ltSC6Ws
https://dl.doubtnut.com/l/_600LtbSY56zv
https://dl.doubtnut.com/l/_zR44EAQTT47e


82. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

 where .

Watch Video Solution

− = − 1
5

x + y

2

x − y

+ = 10
15

x + y

7
x − y

x ≠ 0, y ≠ 0

83. Solve each of the following pairs of equations by reducing them

to a pair of linear equations. 6x+3y=6xy and 2x+4y=5xy.

Watch Video Solution

84. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

Watch Video Solution

+ = 4
10

x + y

2

x − y

− = − 2
15

x + y

5

x − y

https://dl.doubtnut.com/l/_zR44EAQTT47e
https://dl.doubtnut.com/l/_RqTMJPUmfRBv
https://dl.doubtnut.com/l/_cmEz6b8ABSaE
https://dl.doubtnut.com/l/_dbS84xatDTsl


85. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

.

Watch Video Solution

+ =
1

3x + y

1

3x − y

3

4

− =
1

2(3x + y)

1

2(3x − y)

−1

8

86. Formulate the following problem as a pair of equations and then

find their solutions. 

A boat goes 30 km upstream and 44 km downstream in 10 hours. In

13 hours it can go 40 km upstream and 55 km downstream.

Determine the speed of the stream and that of the boat in still

water.

Watch Video Solution

87. Formulate the following problem as a pair of equations and then

find their solutions. 

https://dl.doubtnut.com/l/_dbS84xatDTsl
https://dl.doubtnut.com/l/_1UADLEJWXIJd
https://dl.doubtnut.com/l/_Zb3fMR5HZhe5


Rahim travels 600 km to his home partly by train and partly by car.

He takes 8 hours If he travels 120 km by train and rest by car. He

takes 20 minutes more if he travels 200 km by train and rest by car.

Find the speed of the train and the car.

Watch Video Solution

88. Formulate the following problem as a pair of equations and then

find their solutions. 

2 women and 5 men can together finish an embroidery work in 4

days while 3 women and 6 men can finish it in 3 days. Find the time

taken by 1 women alone and 1 man alone to finish the work.

Watch Video Solution

89. Solve the following equations: 

Watch Video Solution

+ = 2  and − = 4
2x

a

y

b

x

a

y

b

https://dl.doubtnut.com/l/_Zb3fMR5HZhe5
https://dl.doubtnut.com/l/_KdvAYZ7gQIzF
https://dl.doubtnut.com/l/_1FuIuhUOG9fG


90. Solve the following equations:

Watch Video Solution

+ = 8  and + = 9
x + 1

2

y − 1

3

x − 1

3

y + 1

2

91. Solve the following equations: .

Watch Video Solution

+ = 5, − = 6
x

7

y

3
x

2

y

9

92. If 'a' and 'b' are rational numbers, find the value of a and b in

each of the following equations. 

Watch Video Solution

= a + b√6
√3 + √2

√3 − √2

https://dl.doubtnut.com/l/_1FuIuhUOG9fG
https://dl.doubtnut.com/l/_B7V0kmI5b669
https://dl.doubtnut.com/l/_iLR5WfO9F3mQ
https://dl.doubtnut.com/l/_nMkNfnQczheC


93. Solve the following equations: , ax-by=2ab.

Watch Video Solution

− = a + b
ax

b

by

a

94. Solve the following equations:

Watch Video Solution

2x + 3y = 17  and 2x+ 2 − 3y+ 1 = 5

95. Animals in an experiment are to be kept on a strict diet. Each

animal is to among other things 20g of protein and 6g of fat. The

laboratory technicians purchased two food mixes. A and B. Mix A has

10% protein and 6% fat. Mix B has 20% protein and 2% fat. How

many grams of each mix should be used?

Watch Video Solution

https://dl.doubtnut.com/l/_SleoxfM0Meu4
https://dl.doubtnut.com/l/_samKCiGXTFig
https://dl.doubtnut.com/l/_kDcE5ifQewed
https://dl.doubtnut.com/l/_hGe54JOqOBDo


96. For what value of k, the following system of equations has a

unique solution? .

Watch Video Solution

x − ky = 2, 3x + 2y = − 5

97. For what value of m the following system of equations will have a

unique solution ? 

Watch Video Solution

3x + my = 10  and 9x + 12y = 30

98. Show that the pair of linear equations 7x+y=10 and x+7y=10 are

consistent.

Watch Video Solution

https://dl.doubtnut.com/l/_hGe54JOqOBDo
https://dl.doubtnut.com/l/_UFmdzeK3zxta
https://dl.doubtnut.com/l/_sIv2o8hdso1A


99. Write the condition for the pair of linear equations in two

variables to be parallel lines.

Watch Video Solution

100. If x=a and y= b is solution for the pair of equations x-y=2 and

x+y=4, then find the values of a and b.

Watch Video Solution

101. For what value of 'p' the following pair of equations has a

unique solution. 2x+py=-5 and 3x+3y=-6.

Watch Video Solution

https://dl.doubtnut.com/l/_vefdxdeg2Aly
https://dl.doubtnut.com/l/_4pUwUMLxFIj6
https://dl.doubtnut.com/l/_5FkdqmkOBWtg


102. Whether the following pair of linear equations are parallel?

Justify. , 

Watch Video Solution

6x − 4y + 10 = 0 3x − 2y + 6 = 0

103. Sove the following pair of linear equations by substitution

method. 2x-3y=19 and 3x-2y=21.

Watch Video Solution

104. Given the linear equations 3x+4y=11, write linear equations in

two variables such that the their geometrical representations from

parallel lines and intersecting lines.

Watch Video Solution

https://dl.doubtnut.com/l/_a0fFcptiMSIp
https://dl.doubtnut.com/l/_zuigIjFVNcrI
https://dl.doubtnut.com/l/_Cv3OeDUDGFhT


105. Solve the pair of linear equations  and 

by Elimination method.

Watch Video Solution

2x + 3y = 8 x + 2y = 5

106. For what value of 'm' in the following,  and 

 system of equations will have no solution ? Why ?

Watch Video Solution

mx + 4y = 10

9x + 12y = 30

107. Draw the graphs of the following equations 3x-y-2=0 and 2x+y-

8=0 on the graph paper.

Watch Video Solution

https://dl.doubtnut.com/l/_iaPWKm6iC0wE
https://dl.doubtnut.com/l/_X4hdqntMeicv
https://dl.doubtnut.com/l/_UGm8BNUuo2CG


108. Draw the graph for the following pair of linear equation in two

variables and find their solution from the graph. 3x-2y=2 and 2x+y=6.

Watch Video Solution

109. Draw the graph for the equations 2x-y-4=0 and x+y+1=0 on the

graph paper and check whether they are consistent or not.

Watch Video Solution

110. Draw the graph of 2x+y=6 and 2x-y+2=0 and find the solution

from the graph.

Watch Video Solution

https://dl.doubtnut.com/l/_LnfAK2Tt3cCG
https://dl.doubtnut.com/l/_twGaaKUvKGkK
https://dl.doubtnut.com/l/_exGq9CrAgSQL


111. Show that the following pair of equations are consistent and

solve them graphically. X+3y=6 and 2x-3y=12.

Watch Video Solution

112. Find the solution of x+2y=10 and 2x+4y=8 graphically.

Watch Video Solution

113. Solve the equations graphically  and .

Watch Video Solution

3x + 4y = 10 4x − 3y = 5

114. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.

.+ = 2  and − = 1
5

x − 1

1

y − 2

6

x − 1

3

y − 2

https://dl.doubtnut.com/l/_EjXSdPm87u5G
https://dl.doubtnut.com/l/_R8fA4n6bcRi1
https://dl.doubtnut.com/l/_C4IfSqIsb2hY
https://dl.doubtnut.com/l/_LhvuB37y1xFu


Watch Video Solution

115. Draw the graph of 2x+y=6 and 2x-y+2=0 and find the solution

from the graph.

Watch Video Solution

116. What is ment by consistenft equations? Give example.

Watch Video Solution

117. Cost of Mathematics textbook is Rs. 10 less than twice of cost of

English textbook. Write this in linear equaton.

Watch Video Solution

https://dl.doubtnut.com/l/_LhvuB37y1xFu
https://dl.doubtnut.com/l/_MwlTXUjj7HBz
https://dl.doubtnut.com/l/_EWTXo09PCqUr
https://dl.doubtnut.com/l/_8hKPBpeayeMm


118. 10 students of Class-X took part in a mathematics quiz. If the

number of girls in 4 more than the number of boys then, find the

number of boys and the number of girls who took part in the quiz.\

Watch Video Solution

119. Solve the given pair of linear equations by elimination method.

2x+y-5=0 and 3x-2y-4=0.

Watch Video Solution

120. Solve the pair 2x+3y=12 and 3x+2y=13 in the elimination method.

Watch Video Solution

https://dl.doubtnut.com/l/_0F2JiZswUltG
https://dl.doubtnut.com/l/_P9smtRPpvN8Y
https://dl.doubtnut.com/l/_tIqpnRD3OMpU


121. Say whether the solution for 2x+3y=12 and 3x+2y=13 is exist or

not basing on the coefficients.

Watch Video Solution

122. Check whether the number of solutions of 2x+3y=12 and

3x+2y=13 are infinity or not. Give reasons.

Watch Video Solution

123. Solve the following equations by substitution method. 

(i) 2x-7y=3 

(ii) 4x+y=21.

Watch Video Solution

https://dl.doubtnut.com/l/_XItKh9IJ7hbI
https://dl.doubtnut.com/l/_tpYGwra05pJS
https://dl.doubtnut.com/l/_pVrPRxlR725J


124. Solve the following equations by substitution method. 

(i) 2x-7y=3 

(ii) 4x+y=21.

Watch Video Solution

125. Solve the given pair of linear equations by elimination method.

2x+y-5=0 and 3x-2y-4=0.

Watch Video Solution

126. Solve the linear equations 2x+3y=12 and 3x+2y=13 by graph

method.

Watch Video Solution

https://dl.doubtnut.com/l/_VVxh32W6VGSC
https://dl.doubtnut.com/l/_c2ohcSlhdPzs
https://dl.doubtnut.com/l/_leSOOAJp5LOO


127. Solve 2x+3y=12 and 3x+2y=13 in the method of substitution.

Watch Video Solution

128. Why there exist infinite solutions to the straight line 2x+3y=12 ?

Watch Video Solution

129. Which method do you adopt to solve the given pair of linear

equation  and ? Why do you so? Solve x

and y in any method

Watch Video Solution

2x + 3y = 12 3x + 2y = 13

130. A pair of linear equations in two vairables are 2x-y=4 and 4x-

2y=6. The pair of equations are……

https://dl.doubtnut.com/l/_w3ddsKH69TEd
https://dl.doubtnut.com/l/_RwAFER2Hm2iQ
https://dl.doubtnut.com/l/_eegm7xBBjnvB
https://dl.doubtnut.com/l/_ebZEVzad6ihN


A. Consistent

B. Dependent

C. Inconsistent

D. Cannot say

Answer:

Watch Video Solution

131. Solution for the equations

 is…….

A. , 

B. , 

C. , 

D. , 

√3x + √5y = 0  and √7x + √11y = 0

x = 3 y = 5

x = 7 y = 11

x = 1 y = 1

x = 0 y = 0

https://dl.doubtnut.com/l/_ebZEVzad6ihN
https://dl.doubtnut.com/l/_GAX21VIxspGa


Answer:

Watch Video Solution

132. The value of 'x' in the equation 3x-(x-4)=3x+1 is………

A. 

B. 3

C. 3

D. 10

Answer:

Watch Video Solution

−3

133. Which of the following is inconsistent equation to 2x+3y-5=0?

https://dl.doubtnut.com/l/_GAX21VIxspGa
https://dl.doubtnut.com/l/_xXIxdRoLdJmn
https://dl.doubtnut.com/l/_qm2pvUvCFscp


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4x − 6y − 11 = 0

2x + y = 5

x + 3y = 5

4x + 6y − 11 = 0

134. The value of k forf which the system of equations kx-y=2 and 6x-

2y=3 has no solution, is…..

A. 

B. 

C. 

D. 

= 3

≠ 3

≠ 0

= 0

https://dl.doubtnut.com/l/_qm2pvUvCFscp
https://dl.doubtnut.com/l/_B1QLlC8OcHPr


Answer:

Watch Video Solution

135. If  and  has infinite solutions, then 

 ………

A. 8

B. 6

C. 10

D. 16

Answer:

Watch Video Solution

2x + 3y = 8 4x + py = 16

p =

https://dl.doubtnut.com/l/_B1QLlC8OcHPr
https://dl.doubtnut.com/l/_yy88Cog2tJzF


136. Which of the following pairs of equations represent inconsitent

system?

A. , 

B. , 

C. , 

D. , 

Answer:

Watch Video Solution

2x + 3y = 8 5x − 4y = 3

6x + 3y = 9 x − 8y = 0

2x + 5y = 11 4x + 10y = 21

3x − 4y = 6 6x − 8y = 12

137. For which value of k will the following pair of linear equations

have no solution 3x+y=1, (2k-1)x+(k-1)y=2k-1?

A. 1

B. 2

https://dl.doubtnut.com/l/_F4F4eHYU3RWM
https://dl.doubtnut.com/l/_N4MMxScmQe4t


C. 

D. 

Answer:

Watch Video Solution

−2

−1

138. If the lines given by 3x+2ky=2 and 2x+5y+1=0 are parallel, then

the value of k is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

15

4

3

4

1

4

−
3

7

https://dl.doubtnut.com/l/_N4MMxScmQe4t
https://dl.doubtnut.com/l/_HNCMgEXCbLvp


139. The pair of linear equations 3x+4y+5=0 and 12x+16y+15=0

have……..

A. Unique

B. many

C. two

D. no

Answer:

Watch Video Solution

140. The pair of linear equations px+2y=5 and 3x+y=1 has unique

solution if

A. p ≠ 6

https://dl.doubtnut.com/l/_HNCMgEXCbLvp
https://dl.doubtnut.com/l/_JxjHS86leB3z
https://dl.doubtnut.com/l/_IqwCbCjPhT8P


B. 

C. 

D. 

Answer:

Watch Video Solution

p = 6

p = 5

p ≠ 5

141. The pair of equations y=0 and y=-3 has

A. no solution

B. Unique solution

C. many solutions

D. two solutions

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IqwCbCjPhT8P
https://dl.doubtnut.com/l/_U7IHPAI2X93Q


142. The lines represented by 8x+2py=2 and 2x+5y+1=0 are prarllel if

p=

A. 

B. 

C. 10

D. 

Answer:

Watch Video Solution

−5

4

2

7

3

8

143. The pair of equations 3x+2y=5, 2x-3y=7

A. consistent

B. Inconsistent

https://dl.doubtnut.com/l/_U7IHPAI2X93Q
https://dl.doubtnut.com/l/_B4KiVlzMLP5q
https://dl.doubtnut.com/l/_MZeakUlHeyxw


C. Has infinite solutions

D. has unique solution

Answer:

Watch Video Solution

144. Solution of the equations  and 

A. , 

B. , 

C. , 

D. , 

Answer:

Watch Video Solution

√2x + √3y = 0

√3x − √8y = 0

x = 1 y = 0

x = 0 y = 1

x = 1 y = 1

x = 0 y = 0

https://dl.doubtnut.com/l/_MZeakUlHeyxw
https://dl.doubtnut.com/l/_U91cEydSRVZl


145. The pair of equations

 has unique solution,

then……..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a1x + b1y + c1 = 0  and a2x + b2y + c2 = 0

≠
a1

a2

b1

b2

= ≠
a1

a2

b1

b2

c1

c2

= =
a1

a2

b1

b2

c1

c2

≠
b1

b2

c1

c2

146. The age of a daughter is one third the age of her father. If the

present age of father is x years, then the age of the daughter after

18 years is

https://dl.doubtnut.com/l/_U91cEydSRVZl
https://dl.doubtnut.com/l/_9UXAWpfpiIKA
https://dl.doubtnut.com/l/_z0fAx8ChdZiF


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x + 18

3

− 18
x

3

x + 18

+ 18
x

13

147. If x=1, then the value of y satisfying the equation 

A. 3

B. 

C. 

D. 1

Answer:

+ = 6
5

x

3

y

1

3

−
1

3

https://dl.doubtnut.com/l/_z0fAx8ChdZiF
https://dl.doubtnut.com/l/_yih5jR6sZmqn


Watch Video Solution

148. The value of y when  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

= 2  and = 6
x + y

xy

x − y

xy

1

4

−
1

2

−
7
4

5

4

149. If ax+by=c and px+qy=r has unique solution, then

A. 

B. 

=
a

b

p

q

ab = pq

https://dl.doubtnut.com/l/_yih5jR6sZmqn
https://dl.doubtnut.com/l/_jfBaXoOJhZYJ
https://dl.doubtnut.com/l/_l2ipQEdNRWvV


C. 

D. 

Answer:

Watch Video Solution

=
a

q

b

p

aq ≠ bp

150. If 5x+py+8=0 and 10x+15y+12=0 has no solution, then p=

A. 

B. 

C. 7

D. 4

Answer:

Watch Video Solution

7
1

2

6
1

2

https://dl.doubtnut.com/l/_l2ipQEdNRWvV
https://dl.doubtnut.com/l/_baMkux9Y5vYc
https://dl.doubtnut.com/l/_nHwvYyG89JA9


151. y =5x is a line

A. Parallel to X- axis

B. Parallel to Y- axis

C. parallel to 

D. passes through the origin

Answer:

Watch Video Solution

x = 5y

152. x=7 is a line

A. Parallel to X- axis

B. Parallel to Y- axis

C. passes through the origin

https://dl.doubtnut.com/l/_nHwvYyG89JA9
https://dl.doubtnut.com/l/_KXpPpKS9DO3r


D. passing through 

Answer:

Watch Video Solution

(0, 7)

153. The point (-3,-8) is in the …………quadrant

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Q1

Q2

Q3

Q4

https://dl.doubtnut.com/l/_KXpPpKS9DO3r
https://dl.doubtnut.com/l/_bQ7JEiCcQ3BV


154. The point (7,-5) is in the…………quadrant.

A. I

B. II

C. III

D. IV

Answer:

Watch Video Solution

155.  , , then 

A. 1

B. 2

C. 0

x − y = 0 2x − y = 2 y =

https://dl.doubtnut.com/l/_ocqC3qSo2JTA
https://dl.doubtnut.com/l/_ZBJAbV85nknl


D. 

Answer:

Watch Video Solution

−2

156. The larger of two supplementary angles exceeds the smaller by

. Find them.

A. , 

B. , 

C. , 

D. , 

Answer:

Watch Video Solution

38∘

71∘ 108∘

72∘ 108∘

109∘ 71∘

142∘ 38∘

https://dl.doubtnut.com/l/_ZBJAbV85nknl
https://dl.doubtnut.com/l/_r4hiDMxE8K3e
https://dl.doubtnut.com/l/_ukwZiyS7zSHI


157. Find the value of x if  and 5x+8y=33.

A. 2

B. 3

C. 4

D. 

Answer:

Watch Video Solution

y = x
3

4

−3

158. Which of the following is not a solution of the equation

2a+3b=5?

A. 

B. 

C. 

(1, 1)

( − 2, 3)

(4, − 1)

https://dl.doubtnut.com/l/_ukwZiyS7zSHI
https://dl.doubtnut.com/l/_iuYqny60iI8I


D. 

Answer:

Watch Video Solution

(1, 7)

159. Solve each of the following pairs of equations by reducing them

to a pair of linear equations.  and 

where .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+ = 13
2

x

3

y
− = − 2

5

x

4
y

x ≠ 0, y ≠ 0

( , )
−1
2

−1

3

( − , )
1
2

1

3

( , )
1

3

1
2

( , )
1
2

1

3

https://dl.doubtnut.com/l/_iuYqny60iI8I
https://dl.doubtnut.com/l/_7tJR8OKTNidj


160. , then x=

A. 132

B. 11

C. 12

D. 13

Answer:

Watch Video Solution

+ = 11
120

x

12

x

161. The graph of a pair of linear equations in two variables is

represented by…………

A. straight lines

B. Curves

https://dl.doubtnut.com/l/_7tJR8OKTNidj
https://dl.doubtnut.com/l/_HhwVmGXS8Zue
https://dl.doubtnut.com/l/_HUQPUBcIgUqr


C. Triangles

D. none

Answer:

Watch Video Solution

162. The graph of a pair of linear equations such that

 in two variables in represented by………

A. intersecting lines

B. Two triangles

C. Circles

D. two parallel lines

Answer:

Watch Video Solution

= ≠
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_HUQPUBcIgUqr
https://dl.doubtnut.com/l/_Xe4jfAHFpDuP


163. The graph of two linear equations such that  is

represented by……….

A. parallel lines

B. Two intersecting lines

C. Circles

D. none

Answer:

Watch Video Solution

≠
a1

a2

b1

b2

164.  then x=………..

A. 

B. 

500x + 240y = 8, 130x + 240y =
43
10

9

200

7
20

https://dl.doubtnut.com/l/_Xe4jfAHFpDuP
https://dl.doubtnut.com/l/_bdxJl7z693yR
https://dl.doubtnut.com/l/_GnydH1jL50hr


C. 

D. 

Answer:

Watch Video Solution

1

100

1

10

165.  then x=………..

A. 1

B. 0

C. 10

D. none

Answer:

Watch Video Solution

500x + 240y = 8, 130x + 240y =
43
10

https://dl.doubtnut.com/l/_GnydH1jL50hr
https://dl.doubtnut.com/l/_ZqpiaFJGI2cQ
https://dl.doubtnut.com/l/_ZtUbDIrMFZv3


166. The pair of equations

 are consistent,

then……..

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

a1x + b1y + c1 = 0  and a2x + b2y + c2 = 0

≠
a1

a2

b1

b2

=
a1

a2

b1

b2

= 1
a1

a2

167. Sita has pencils and pens which are together 40 in number. If

she has 5 less pencils and 5 more pens the number of pens become

four times the number of pencils. Represent this situation in a linear

equation form.

https://dl.doubtnut.com/l/_ZtUbDIrMFZv3
https://dl.doubtnut.com/l/_Bj9IrqjsO3no


A. 

B. 

C. 

D. all

Answer:

Watch Video Solution

x − y = 40

x + y = 40

x − y = 7

168. If  then the lines are………lines.

A. Parallel

B. Intersecting

C. Coincident

D. none

Answer:

= =
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_Bj9IrqjsO3no
https://dl.doubtnut.com/l/_6TEJ1DqVgxh9


Watch Video Solution

169. The lines represented by 5x+7y-14=0 and 10x+3y-8=0 are …………

lines.

A. coincident

B. Vertical

C. Parallel

D. consistent

Answer:

Watch Video Solution

170. The standard form of a linear equations is………

A. xa + y = 0

https://dl.doubtnut.com/l/_6TEJ1DqVgxh9
https://dl.doubtnut.com/l/_4cKI1jAuSusk
https://dl.doubtnut.com/l/_MPWx2K3X3n0M


B. 

C. 

D. 

Answer:

Watch Video Solution

ax + by

ax + b = 0

ax + by + c = 0

171. The lines 3x+8y-13=0 and -6x-16y+23=0 are………lines.

A. coincident

B. Parallel

C. Circular

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MPWx2K3X3n0M
https://dl.doubtnut.com/l/_2MRAFq4DtP5G


172. The lines represented by 5x+3y-7=0 and 6y+10x-14=0 are………

lines.

A. coincident

B. Parallel

C. Intersecting

D. none

Answer:

Watch Video Solution

173. The pairs of equations 4x-2y+6=0 and 2x-y+8=0 has………solutions.

A. 1

B. 12

https://dl.doubtnut.com/l/_2MRAFq4DtP5G
https://dl.doubtnut.com/l/_iQjXxRYPDWdW
https://dl.doubtnut.com/l/_OcgGKy9ga7Ox


C. No solution

D. 10

Answer:

Watch Video Solution

174. The number of solutions to the pair of equations 6x-7y+8=0 and

12x-14y+10=0 is………..

A. 1

B. 20

C. 3

D. infinite

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OcgGKy9ga7Ox
https://dl.doubtnut.com/l/_35xuNOc2qJAX


175. The number of solutions to the pair of equations 11x-7y=6 and

4x+9y=8 is………

A. 4

B. 3

C. 7

D. 1

Answer:

Watch Video Solution

176. If the pair of equations kx+14y+8=0 and 3x+7y+6=0 has a unique

solution then……….

A. k ≠ 6

https://dl.doubtnut.com/l/_35xuNOc2qJAX
https://dl.doubtnut.com/l/_oXdK5Xb1wbrP
https://dl.doubtnut.com/l/_BOYCGKSUlmbH


B. 

C. 

D. none

Answer:

Watch Video Solution

k = 0

k = 7

177. 

are……..equations.

A. Parallel

B. Pair of linear

C. consistent

D. none

Answer:

a1x + b1y + c1 = 0  and a2x + b∘ y + c2 = 0

https://dl.doubtnut.com/l/_BOYCGKSUlmbH
https://dl.doubtnut.com/l/_AM4Rpj9UjXMn


Watch Video Solution

178. If  then the lines will have………solutions.

A. Infinite

B. 2

C. 3

D. 7

Answer:

Watch Video Solution

= =
a1

a2

b1

b2

c1

c2

179. 3x-2y+6=0,6x-4y+8=0 represents……….lines.

A. consistent

B. Inconsistent

https://dl.doubtnut.com/l/_AM4Rpj9UjXMn
https://dl.doubtnut.com/l/_1al5mDihukIg
https://dl.doubtnut.com/l/_mPhuITULoH7h


C. circle

D. parallel

Answer:

Watch Video Solution

180. 5x-2y-10=0,10x-4y-20=0 these are………lines.

A. coincident

B. Parallel

C. intersecting

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mPhuITULoH7h
https://dl.doubtnut.com/l/_V5YvVDwWTDZY
https://dl.doubtnut.com/l/_D0IkB1LzxmVL


181. The number of solutions to 4x+6y-7=0 and 8x+5y-8=0 is………

A. 14

B. 3

C. 4

D. 1

Answer:

Watch Video Solution

182.  then x=………

A. 1

B. 4

C. 2

+ = 2, − = 3
2

x

3

y

12

x

9

y

https://dl.doubtnut.com/l/_D0IkB1LzxmVL
https://dl.doubtnut.com/l/_tE3gJtMeOZp7


D. none

Answer:

Watch Video Solution

183. 


In the above problem  …….

A. 2

B. 

C. 7

D. 3

Answer:

Watch Video Solution

+ = 2, − = 3
2

x

3

y

12

x

9

y

y =

−1

https://dl.doubtnut.com/l/_tE3gJtMeOZp7
https://dl.doubtnut.com/l/_dNGK98xRtQYU
https://dl.doubtnut.com/l/_JJKkZWSJvymT


184. The lines x=5y passes through…………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(1, 1)

(2, 3)

(0, 9)

(0, 0)

185. Solve the following equations:

A. 2

B. 3

C. 1

2x + 3y = 17  and 2x+ 2 − 3y+ 1 = 5

https://dl.doubtnut.com/l/_JJKkZWSJvymT
https://dl.doubtnut.com/l/_otyKpc1ALeoM


D. 7

Answer:

Watch Video Solution

186. Solve the following equations:




In the above problem  ……

A. 2

B. 4

C. 3

D. none

Answer:

Watch Video Solution

2x + 3y = 17  and 2x+ 2 − 3y+ 1 = 5

x =

https://dl.doubtnut.com/l/_otyKpc1ALeoM
https://dl.doubtnut.com/l/_oYpZSmVqnMeA


187. Solve the following equations: , ax-by=2ab.

A. 3b

B. 

C. 1

D. 

Answer:

Watch Video Solution

− = a + b
ax

b

by

a

−3

b

−2a

188. Solve the following equations: , ax-by=2ab.


In the above problem  ……….

A. 

B. 2a

− = a + b
ax

b

by

a

y =

−a

https://dl.doubtnut.com/l/_oYpZSmVqnMeA
https://dl.doubtnut.com/l/_PgsIPiFZKRlT
https://dl.doubtnut.com/l/_4vdDfTmf65qQ


C. 

D. 

Answer:

Watch Video Solution

−a2

3b − a

189. Slope of the line ax+by+c=0 is…………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

b

a

1

a

a

b

−a

b

https://dl.doubtnut.com/l/_4vdDfTmf65qQ
https://dl.doubtnut.com/l/_KomsvdZA41Id
https://dl.doubtnut.com/l/_Rud9EBe92RSX


190. The line ax+by+c=0 does not passes through………..

A. 

B. 

C. both A & B

D. none

Answer:

Watch Video Solution

(0, 0)

(a, 0)

191. If x+y=7,x-y=1 then 2x =………..

A. 3

B. 4

C. 7

https://dl.doubtnut.com/l/_Rud9EBe92RSX
https://dl.doubtnut.com/l/_Hehc5nlVITLh


D. 8

Answer:

Watch Video Solution

192. In the above problem =…

A. 3

B. 7

C. 1

D. 4

Answer:

Watch Video Solution

a5

https://dl.doubtnut.com/l/_Hehc5nlVITLh
https://dl.doubtnut.com/l/_4HESUwCw0iIw


193. Slope of the line y=x is………….

A. 2

B. 

C. 1

D. none

Answer:

Watch Video Solution

−1

194. The line x=2015 is…….

A. Slope not defined

B. Parallel to Y – axis

C. both A & B

https://dl.doubtnut.com/l/_yfL7RR3gKgVL
https://dl.doubtnut.com/l/_RAdi2f9SJIWp


D. none

Answer:

Watch Video Solution

195.  then y=………

A. 

B. 4

C. 1

D. 2

Answer:

Watch Video Solution

x + = 6, 3x − = 5
6

y

8

y

−2

https://dl.doubtnut.com/l/_RAdi2f9SJIWp
https://dl.doubtnut.com/l/_VLxxsh5EZ3Yk


196.  then y=………

A. 3

B. 2

C. 

D. 9

Answer:

Watch Video Solution

x + = 6, 3x − = 5
6

y

8

y

−1

197. 3x-5y=-1,-y+x=-1 then (x,y)=………

A. 

B. 

C. 

( − 2, − 1)

(2, − 1)

(1, 2)

https://dl.doubtnut.com/l/_X4ImtgRCxArj
https://dl.doubtnut.com/l/_xJxbUZrQDTW8


D. none

Answer:

Watch Video Solution

198. The graph of 3x-y=-1………..

A. Circle

B. Straight line

C. curve

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xJxbUZrQDTW8
https://dl.doubtnut.com/l/_SnhYX0DXY3QT


199. The value of y in -5x+10y=100 at x=0 is………

A. 12

B. 9

C. 

D. 10

Answer:

Watch Video Solution

−10

200. If x+y=36, then at y=-1,x=………..

A. 38

B. 37

C. 80

https://dl.doubtnut.com/l/_bm82vTfZCwub
https://dl.doubtnut.com/l/_MUX4sXcPQWba


D. 12

Answer:

Watch Video Solution

201. x+y=10,x-y=-4 then x=………..

A. 4

B. 3

C. 5

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MUX4sXcPQWba
https://dl.doubtnut.com/l/_k5TPXPPS4XMw


202. The fencing of a square garden is 20 m in length. How long is

one side of the garden?

Watch Video Solution

203. Solution to 2x-2y-2=0, 4x-4y-5=0 is………..

A. 

B. 

C. 

D. No solution

Answer:

Watch Video Solution

(1, 4)

(2, − 1)

(8, )
1

4

https://dl.doubtnut.com/l/_eqMMOsrxxNxv
https://dl.doubtnut.com/l/_dcLuLVJzzSFa


204. The two lines 2x+y-6=0 and 4x-2y-4=0 intersect at……

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(2, 2)

(3, 2)

(1, − 4)

(1, 1)

205. Solution to x-y=1, 2x-2y=7 is………

A. 

B. 

C. 

(1, 1)

(1, 9)

(8, 4)

https://dl.doubtnut.com/l/_k53F4vEgTmCb
https://dl.doubtnut.com/l/_3wtH6JCx0iyv


D. No solution

Answer:

Watch Video Solution

206. ……………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(2, ) ∈
−1

4

Q4

Q3

Q2

Q1

https://dl.doubtnut.com/l/_3wtH6JCx0iyv
https://dl.doubtnut.com/l/_fuk39z7n4VUJ


207.  = ………

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

Q1 ⌢ Q2

{}

{1, 2, 3}

{8, 9}

208. Perimeter of rectangle =………

A. 

B. 

C. 

l + b

l − b

2(l + b)

https://dl.doubtnut.com/l/_14rwl1UfXNVb
https://dl.doubtnut.com/l/_Qo0Wb77ItEru


D. 

Answer:

Watch Video Solution

l + b

2

209. x+y=2015 has …….. Number of solutions.

A. 10

B. 2014

C. 20

D. Infinite

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Qo0Wb77ItEru
https://dl.doubtnut.com/l/_IBusme68KZj8


210. px+3y-(p-3)=0, 12x+py-p=0 has infinitely many solutions then

p=………….

A. 7

B. 9

C. 

D. 

Answer:

Watch Video Solution

±71

±6

211. For what value of 'k', the pair of equation 3x+4y+2=0 and

9x+12y+k=0 represent coincident lines.

A. 12

B. 9

https://dl.doubtnut.com/l/_hEhLoppr6MCJ
https://dl.doubtnut.com/l/_qbzy4icdVtuB


C. 6

D. 7

Answer:

Watch Video Solution

212. 2x+3y=1,3x-y=7 then (x,y)=………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(2, − 1)

( − 2, 1)

(8, )
1

4

(0, 3)

https://dl.doubtnut.com/l/_qbzy4icdVtuB
https://dl.doubtnut.com/l/_HXnaJIA9C7dg
https://dl.doubtnut.com/l/_BGfh1dASoSUc


213. If 7x-8y=9, then y=………..

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

9 + 7x

9 − 7x
8

9 − 7x
8

214. Slope of the line x=2y is…………

A. 2

B. 

C. 1

−2

https://dl.doubtnut.com/l/_BGfh1dASoSUc
https://dl.doubtnut.com/l/_7nnXLGGOCMoV


D. 

Answer:

Watch Video Solution

1

2

215. Slope of X-axis is .....

A. 0

B. 1

C. 

D. 2

Answer:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_7nnXLGGOCMoV
https://dl.doubtnut.com/l/_z27EdF2Pnrsv


216. Angle between any two parallel lines is …………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

70∘

0∘

100∘

180∘

217. 4m-2n=2,6m-5n=9 then n=…………

A. 5

B. 4

C. 1

https://dl.doubtnut.com/l/_vQs7pFVegUGA
https://dl.doubtnut.com/l/_UqJ2ArZVT60I


D. 

Answer:

Watch Video Solution

−3

218. 4m-2n=2,6m-5n=9

In the above problem  ……….

A. 

B. 4

C. 

D. 7

Answer:

Watch Video Solution

m =

−1

−31

https://dl.doubtnut.com/l/_UqJ2ArZVT60I
https://dl.doubtnut.com/l/_hOkSZiufWUIW
https://dl.doubtnut.com/l/_4NYZtml5ReyW


219. 2u+3v=2,4u-6v=0 then v=……..

A. 

B. 1

C. 

D. 

Answer:

Watch Video Solution

1

2

1

31

1

3

220. 2u+3v=2,4u-6v=0 the value of  ……….

A. 

B. 

C. 2

D. 4

u =

1

21

1

2

https://dl.doubtnut.com/l/_4NYZtml5ReyW
https://dl.doubtnut.com/l/_tAP6ardHyWXM


Answer:

Watch Video Solution

221. Area of rectangle =……….

A. 

B. 

C. lb

D. None

Answer:

Watch Video Solution

l2b

l

b

222.  then x=……..− y = 2, + 2y − 4
x + 3

2

x − 3

2

1

2

https://dl.doubtnut.com/l/_tAP6ardHyWXM
https://dl.doubtnut.com/l/_i4mNv3VgOtnG
https://dl.doubtnut.com/l/_bpOd3ArIiFOQ


A. 1

B. 4

C. 51

D. None

Answer:

Watch Video Solution

223. The diagonals of a rhombus are 7cm and 12 cm. Find its area.

Watch Video Solution

224. If ax+b=0, then x=………

A. 

B. 

−b

−
b

a

https://dl.doubtnut.com/l/_bpOd3ArIiFOQ
https://dl.doubtnut.com/l/_mM4a8bk1DgIq
https://dl.doubtnut.com/l/_NTOMydB0YcjD


C. 

D. None

Answer:

Watch Video Solution

b

a

225. 2x-3y=-12 then at x=0, y=………..

A. 4

B. 6

C. 8

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NTOMydB0YcjD
https://dl.doubtnut.com/l/_UcFAw86Vzcc6
https://dl.doubtnut.com/l/_58iTBdoZtoRf


226. Two parallel lines differ by……….

A. Circle

B. triangles

C. constant

D. None

Answer:

Watch Video Solution

227. x=1 and y=  then x-y=…………

A. 

B. 1

C. 

−
1

2

−1

−
1

2

https://dl.doubtnut.com/l/_58iTBdoZtoRf
https://dl.doubtnut.com/l/_reQIx7xkfOvb


D. 

Answer:

Watch Video Solution

3

2

228. If 99x+101y=499,101x+99y=501 then x=………..

A. 

B. 3

C. 4

D. 2

Answer:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_reQIx7xkfOvb
https://dl.doubtnut.com/l/_flbN10vxy6iz


229. If 99x+101y=499,101x+99y=501 then x=………..

A. 3

B. 4

C. 2

D. 8

Answer:

Watch Video Solution

230. 141x+93y=189,93x+141y=45 then y=……..

A. 

B. 4

C. 

−1

−2

https://dl.doubtnut.com/l/_Pfrstzx0BszD
https://dl.doubtnut.com/l/_COcbcvlyZMFb


D. 3

Answer:

Watch Video Solution

231. A thin wire 20 centimeters long is formed into a rectangle. If the

width of this rectangle is 4 centimeters, what is its length?

Watch Video Solution

232. If -x-y=-10, then x=………….

A. 

B. 

C. 

D. 

y − 3

y2 − 1

y − 10

y + 10

https://dl.doubtnut.com/l/_COcbcvlyZMFb
https://dl.doubtnut.com/l/_XaNuPnE3Of9a
https://dl.doubtnut.com/l/_6cyloh68VSQN


Answer:

Watch Video Solution

233. ……………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − a, − b) ∈

Q2

Q3

Q1

Q4

234. (2,0) lines on………

https://dl.doubtnut.com/l/_6cyloh68VSQN
https://dl.doubtnut.com/l/_chbAUvnCXQED
https://dl.doubtnut.com/l/_2xhj7s50Ko1U


A. 

B. 

C. x axis

D. y axis

Answer:

Watch Video Solution

Q1

Q2

235. The line  intersects X-axis at………

A. 

B. 

C. 

D. 

Answer:

2x − 3y = 8

(2, 3)

(1, 1)

(0, 8)

(8, 0)

https://dl.doubtnut.com/l/_2xhj7s50Ko1U
https://dl.doubtnut.com/l/_3OCwPr5v6XW7


Watch Video Solution

236. The values of k for which the pair of linear equations 3x-2y=7

and 6x+ky+11=0 has a unique solution is ………..

A. all number expect 4

B. all number expect 

C. 4

D. 

Answer:

Watch Video Solution

−4

−4

237. The pair of linear equations -3x+4y=7 and 

has…………

x − 6y + = 0
9

2

21

2

https://dl.doubtnut.com/l/_3OCwPr5v6XW7
https://dl.doubtnut.com/l/_Bum8T3FBKP56
https://dl.doubtnut.com/l/_Ptv1m89PJVxS


A. infinite number of solutions

B. no solution

C. two solutions

D. unique solution

Answer:

Watch Video Solution

238. If  then the pair of linear equations ax+by=p and

cx+dy=q has……….solutions.

A. no

B. unique

C. 2

D. none

ad ≠ bc

https://dl.doubtnut.com/l/_Ptv1m89PJVxS
https://dl.doubtnut.com/l/_PXMa1ax8E2of


Answer:

Watch Video Solution

239. A line parallel to the line x+2y+1=0 is…………

A. 

B. 

C. 

D. all

Answer:

Watch Video Solution

x + y + 3 = 0

2x + 4y + 1 = 0

x − y + 1 = 0

240. The pair of equations x=3,y=2 graphically represent lines

which……..

https://dl.doubtnut.com/l/_PXMa1ax8E2of
https://dl.doubtnut.com/l/_5wdFnheLy7jI
https://dl.doubtnut.com/l/_kOOoZOAbsbdd


A. intersect at 

B. Intersect at 

C. parallel

D. coincident

Answer:

Watch Video Solution

(3, 4)

(4, 3)

241. If the pair of equations 2x+y=7 and 6x-py-21=0 has infinite

number of solutions then p=………..

A. 3

B. 4

C. 5

D. none

https://dl.doubtnut.com/l/_kOOoZOAbsbdd
https://dl.doubtnut.com/l/_bPkDT9T6WHc8


Answer:

Watch Video Solution

242. The value of k for which the system of equations kx+3y=1,

12x+ky=2 has no solution is………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

k = − 1

k = 3

k = 2

k = − 6

243. The line 3x+y=7 intersects X-axis at…………

https://dl.doubtnut.com/l/_bPkDT9T6WHc8
https://dl.doubtnut.com/l/_3WP3mGWRB0FO
https://dl.doubtnut.com/l/_CWvw4SRzslQy


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( , 0)
7
2

(0, )
7
2

(0, 1)

(0, 3)

244. For what value of k, 2x+3y=4 and (k+2)x+6y=3k+2 will have

infinitely many solutions?

A. 

B. 

C. 

D. None

k = − 1

k = 2

k = 7

https://dl.doubtnut.com/l/_CWvw4SRzslQy
https://dl.doubtnut.com/l/_AHJShZfLDO9I


Answer:

Watch Video Solution

245.  then x=………

A. 13

B. 17

C. 

D. 10

Answer:

Watch Video Solution

+ = 9, + = 8
x + 1

2

y + 1

3

x − 1

3

y + 1

2

−3

246. 


In the above problem  ……….

+ = 9, + = 8
x + 1

2

y − 1

3

x − 1

3

y + 1

2

y =

https://dl.doubtnut.com/l/_AHJShZfLDO9I
https://dl.doubtnut.com/l/_MV4CtqgJ8SBB
https://dl.doubtnut.com/l/_v8AoHiH3PRWo


A. 4

B. 

C. 9

D. 7

Answer:

Watch Video Solution

−3

247. If the equations (2m-1)x+3y-5=0, 3x+(n-1)y-2=0 has Inflnlte

number of solutions then n=…………

A. 1

B. 

C. 

D. 

5

11

1

5

11

5

https://dl.doubtnut.com/l/_v8AoHiH3PRWo
https://dl.doubtnut.com/l/_9SAFpVkiXtfS


Answer:

Watch Video Solution

248. If the equations (2m-1)x+3y-5=0, 3x+(n-1)y-2=0 has Inflnlte

number of solutions then 

In the above problem m = ………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

17
4

7
4

1

2

8

3

https://dl.doubtnut.com/l/_9SAFpVkiXtfS
https://dl.doubtnut.com/l/_OMu2cHn3vVgp


249. A fraction becomes  if 2 is added to both numerator and

denominator. If 3 is added to both numerator and denominator It

bevomes  Then the fraction is ……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9

11

5

6

3

4

1

2

9

7

7
9

250. The ration of incomes of two persons is 11: 7 and the ration of

their expenditurca is 9 :5, if each of them manages to save Rs400

per month then the monthly income of first person is …………

https://dl.doubtnut.com/l/_0KdwipH8V4iy
https://dl.doubtnut.com/l/_JvyJ2tHmIy3L


A. 2200

B. 1200

C. 800

D. 1010

Answer:

Watch Video Solution

251. The ration of incomes of two persons is 11: 7 and the ration of

their expenditurca is 9 :5, if each of them manages to save Rs400

per month then the monthly income of first person is …………

A. 8001

B. 1100

C. 1400

https://dl.doubtnut.com/l/_JvyJ2tHmIy3L
https://dl.doubtnut.com/l/_gxZZCDpcYXVj


D. 4100

Answer:

Watch Video Solution

252. The age of a father 8 years ago was 5 times that of his son 8

years. Hence, his age will be 8 years more than twice the age of his

son. Then the present age of fatherd is ………years.

A. 80

B. 92

C. 24

D. 48

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gxZZCDpcYXVj
https://dl.doubtnut.com/l/_0yRMRwphhVsG


253. The age of a father 8 years ago was 5 times that of his son 8

years. Hence, his age will be 8 years more than twice the age of his

son. Then the present age of fatherd is ………years.

A. 16

B. 96

C. 12

D. None

Answer:

Watch Video Solution

254. The two lines 2x-y=1,x+2y=13 will intersect at ………..

A. (5, 3)

https://dl.doubtnut.com/l/_0yRMRwphhVsG
https://dl.doubtnut.com/l/_DibNkmSVUm3r
https://dl.doubtnut.com/l/_QW0PwLOb2GJT


B. 

C. 

D. 

Answer:

Watch Video Solution

(3, 5)

(1, 3)

(3, 9)

255. Identity parallel lines

A. , 

B. , 

C. , 

D. all

Answer:

Watch Video Solution

2x + 3y = 6 8x + 12y = 9

x + y = 7 x − y = 1

2x + y = 7 3x − 7 = 7

https://dl.doubtnut.com/l/_QW0PwLOb2GJT
https://dl.doubtnut.com/l/_qA92WIgT2CK4


256. Solution to 2x+3y=12,2y-1=x is……………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(8, − 1)

(3, 8)

(3, 2)

(1, − 1)

257. The lines x-y=1, 2x+y=8 intersect at …………

A. 

B. 

(1, 9)

(9, 3)

https://dl.doubtnut.com/l/_qA92WIgT2CK4
https://dl.doubtnut.com/l/_wOfTp8B25lVL
https://dl.doubtnut.com/l/_7aVwAUneLX3f


C. 

D. None

Answer:

Watch Video Solution

(3, 4)

258. If  then x=……….

A. 4

B. 7

C. 

D. 3

Answer:

Watch Video Solution

+ = 2, + = 1
5

x − 1

1

y − 2

6

x − 1

−3

y − 2

−1

https://dl.doubtnut.com/l/_7aVwAUneLX3f
https://dl.doubtnut.com/l/_NiT2UGCF8KxS
https://dl.doubtnut.com/l/_jpSApl8oqWyy


259. In the above problem =…

A. 1

B. 

C. 5

D. 9

Answer:

Watch Video Solution

a5

−1

260. Solution to 

is………

A. 

B. 

− = 0, + = a + b, x ≠ 0, y ≠ 0
a2

x

b2

y

a2b

x

b2a

y

( − a2, − b2)

(a, b2)

https://dl.doubtnut.com/l/_jpSApl8oqWyy
https://dl.doubtnut.com/l/_aYrsjtWjZeZQ


C. 

D. 

Answer:

Watch Video Solution

(a, − b)

(a2, b2)

261. The point of intersecting of x+y=6 and x-y=4 is………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(5, 1)

(1, 5)

(2, 4)

(4, 6)

https://dl.doubtnut.com/l/_aYrsjtWjZeZQ
https://dl.doubtnut.com/l/_QNuKAdxfcTkT
https://dl.doubtnut.com/l/_cizWCu6onQAc


262. The graph y=ax+b is a straight line which intersects X-axis at

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(0, − )
b

a

(0, b)

( − , 0)
b

a

(b, 0)

https://dl.doubtnut.com/l/_cizWCu6onQAc

